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s-BLOCK ELEMENTS

1. Sodium bicarbonate has :

A. lonic bond
B. Covalent bond

C. Hydrogen bond


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pXP57MpBPOo8

D. All of these

Answer: D

° Watch Video Solution

2. Which of the following metal on burning in moist air

does not give smell of ammonia?

A. Mg

B. Ca

C.K

D. Li

Answer: C

| e |


https://dl.doubtnut.com/l/_pXP57MpBPOo8
https://dl.doubtnut.com/l/_JJ7BK7i6KeXh

| & Watch Video Solution ]

3. For the alkali metals, which of the following increase with

increasing atomic number?

A. First ionization energy

B. Electronegativity

C. Hydration energy of the univalent ion

D. Atomic radius

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_JJ7BK7i6KeXh
https://dl.doubtnut.com/l/_LVEQuLFysDN9

4. Among the carbonates of alkali metals which one has

highest thermal stability ?

A. 082003

B. Rb,CO4

C. K;,CO4

D. NCL2 003

Answer: A

° Watch Video Solution

5. Which of the following is most soluble in water?

A. CSClO4


https://dl.doubtnut.com/l/_ANdHGMCDzcy8
https://dl.doubtnut.com/l/_VNo7s6rt1grY

B. NaC’lO4

C. KClO,

D. LiClOy

Answer: D

° Watch Video Solution

6. A solution of sodium metal in liquid ammonia is strongly
reducing due to the presence of

A. The presence of ions Na

B. The presence of ammoniated electron

C.The formation of NaNH,

D. The formation of sodium hybride


https://dl.doubtnut.com/l/_VNo7s6rt1grY
https://dl.doubtnut.com/l/_r4ai5gMwieiK

Answer: B

o Watch Video Solution

7.The order of basicity of hydroxides of alkali metals is

A.Li > Na > Rb > Cs

B.Na > Li > Rb > Cs

C.Cs > Rb > Na > Li

D.Rb > Cs > Na > Lz

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_r4ai5gMwieiK
https://dl.doubtnut.com/l/_jtcwyK494fmy

8. The metallic lustre exhibited by sodium is explained by

A. diffusion of Na ™ ions

B. oscillation of loose electrons

C. excitation of free protons

D. existence of body-centered cubic lattice

Answer: B

° Watch Video Solution

9. Soda lime is a mixture of

A. Na + CG;O + HzO

B.CaO + NaOH/aq)


https://dl.doubtnut.com/l/_eySXYYaTvJz6
https://dl.doubtnut.com/l/_Nc9bqayRlcC0

C. NaOH + CaCOs

D. NaHCOg + CaO

Answer: B

° Watch Video Solution

10. The compound called microscomic salt is:

A. NG,QHPO4 . ZHQO
B. Na(NH,)HPO, - 4H,0
C. NalNH4PO4 . 2H20

D. (NH,),HPO, - 2H,0

Answer: B



https://dl.doubtnut.com/l/_Nc9bqayRlcC0
https://dl.doubtnut.com/l/_E5KUAwhER2gZ

| ° Watch Video Solution

11. Potassium when heated strongly in oxygen, if forms :

A. K50

B. KO,

C. K202

D. KO;

Answer: B

° Watch Video Solution

12. When a concentrated solution of ammonia is saturated

with sodium chloride in the presence of pieces of dry ice, a


https://dl.doubtnut.com/l/_E5KUAwhER2gZ
https://dl.doubtnut.com/l/_fhjz7GbiREvG
https://dl.doubtnut.com/l/_Nwx8HZG68eXs

water cloud forms . Thid is due to the,

A. precipitation of sodium carbonate from the reaction

mixture

B. precipitation of sodium hydrogen carbonate from the

reaction mixture

C. precipitation of ammonium hydrogen carbonate from

the reaction mixture

D. precipitation of ammonium carbonate

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Nwx8HZG68eXs

13. On heating sodium metal in a current of dry ammonia,

the compound formed is

A. sodium imide

B. sodium nitride

C.sodium amide

D. sodium azide

Answer: C

o Watch Video Solution

14. Which of the following compounds is not obtained
when the products obtained from the electrolysis of brine

are mixed?


https://dl.doubtnut.com/l/_LVHZwsftqJeZ
https://dl.doubtnut.com/l/_j03H3vwvnPV3

A. NaCl

B. H,

C. NaOCl

D. Cl,

Answer: D

o Watch Video Solution

15. When dry ammonia gas is passed over heated sodium

(out of contact of air) the product forms is

A. sodium hydride

B. sodium nitride

C.sodamide


https://dl.doubtnut.com/l/_j03H3vwvnPV3
https://dl.doubtnut.com/l/_Srks2R3dNE59

D. sodium cyanamide

Answer: C

° Watch Video Solution

16. Which of the folowing compounds liberates oxygen on

heating?

A. Li,CO;3

B. iOH

C. LiNO;

D. NaOH

Answer: C

| |


https://dl.doubtnut.com/l/_Srks2R3dNE59
https://dl.doubtnut.com/l/_REcD6PhX1qIA

| & Watch Video Solution ]

17. Sodium peroxide is used to purify the an m submarines

and confined spaces because:

A. It removes C O and produces O,

B. it decomposes to form NayO

C. it reacts with oxygen to form sodium superoxide

D. None of these

Answer: A

° Watch Video Solution

18. Which of the following salt is known as washing sode?


https://dl.doubtnut.com/l/_REcD6PhX1qIA
https://dl.doubtnut.com/l/_VNESlajkrlRd
https://dl.doubtnut.com/l/_3tFA8FEfE8FI

A. NG,2 003

B. Na2003 : HzO

C. NCLQCOg . 10H20

D. NQ2CO3 . 5H20

Answer: C

° Watch Video Solution

19. Which of the following compounds is formed when

sodium burns in excess supply of air?

A. Sodium suboxide

B. Sodium oxide

C. Sodium peroxide


https://dl.doubtnut.com/l/_3tFA8FEfE8FI
https://dl.doubtnut.com/l/_gVKrVzhdscCV

D. Sodium superoxide

Answer: C

o Watch Video Solution

20. Glauber's salt is :

A. Na2504

B. Na,25'04 . Hzo

C. NaySO, - 5H,0

D. NG,QSO4 : 10H20

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_gVKrVzhdscCV
https://dl.doubtnut.com/l/_z11XQk6yE4Ur

21. Sodium hydroxide is produced on a large scale

A. by the hydrolysis of NayC'O3

B. by the electrolysis of an aqueous solution of NaCl
C. by adding water to sodium oxide

D. by reacting sodium with water

Answer: B

° Watch Video Solution

22. Which of the following metal on used in flash bulbs?

A. Be


https://dl.doubtnut.com/l/_z11XQk6yE4Ur
https://dl.doubtnut.com/l/_AF4Zo9FUX5ye
https://dl.doubtnut.com/l/_bMUfqLrD9QQg

B. Mg

C.Ca

D. Ba

Answer: B

° Watch Video Solution

23. The pair of compounds which cannot exist together in
aqueous solution is:

(I)NaH,POy, and NaHCOs; (II)NayCO3 and
NaHCO;

(III)NaOH and NaH,PO, (IV)NaHCO3 and

NaOH


https://dl.doubtnut.com/l/_bMUfqLrD9QQg
https://dl.doubtnut.com/l/_l1lLjfA5I9eA

AL LT

B. I, IV

C.LIV

D. I, Il
Answer: B

° Watch Video Solution

24.0On reacting with NaOH, which gives inflammable gas?

AS

B.Zn

C. NH,CI


https://dl.doubtnut.com/l/_l1lLjfA5I9eA
https://dl.doubtnut.com/l/_Nj85m93Fvz2V

D. I,

Answer: B

° Watch Video Solution

25. In the reaction

LiH + AlHy — LiAlH,, AlH; and LiH acts as :

A. Lewis acid and Lewis base

B. Lewis base and Lewis acid

C. Bronsted base and Bronsted acid

D. None of these

Answer: A

| e |


https://dl.doubtnut.com/l/_Nj85m93Fvz2V
https://dl.doubtnut.com/l/_Rr4bFwt1qTqY

| & Watch Video Solution ]

26. Lithium is strongest reducing agent among alkali metals

due to which of the following factor ?

A. lonisation energy

B. Hydration energy

C. Heat of sublimation

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Rr4bFwt1qTqY
https://dl.doubtnut.com/l/_KOErmfQZdxJ4

27. Which set of compounds in the following pair of ionic

compounds has the higher lattice energy ?

(i)

KCl or MgO  (it)LiF or LiBr  (iii)Mg3N, or NaCl
A. KCl, LtBr, Mg3N,
B. MgO, LiBr, MgsN,
C. MgO, LiF', NaCl

D. MgO, L’LF, MggNg

Answer: D

° Watch Video Solution

28. Sodium bicarbonate has :


https://dl.doubtnut.com/l/_R2Z1GZeuNRC2
https://dl.doubtnut.com/l/_CyeFnQCpYuBe

A. lonic bond

B. Covalent bond

C. Hydrogen bond

D. All of these

Answer: AB

° Watch Video Solution

29. Compounds having lowest melting point:

A. L:Cl

B.CsCl

C. RbCl


https://dl.doubtnut.com/l/_CyeFnQCpYuBe
https://dl.doubtnut.com/l/_99KcicUqhS9j

D. KCl

Answer: A

° Watch Video Solution

30. Incorrect statement is :

A.NaHCO3 and KHCOj3 have same crystal structure

B. On heating Li NO3 decomposes into LioOanNO,

C. Among alkali metals, Li metal impart red colour flame

D. Li3 SO, does not form alum

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_99KcicUqhS9j
https://dl.doubtnut.com/l/_E0k2trCNLNHA

31. The solubility of metal halides depends on their nature,
Lattice enthalpy and hydration enthalpy of the individual
ions. Amongst fluorides of alkali metals, the lowest
solubility of LiF in water is due to

A. lonic nature of lithium flouride

B. High lattice enthalpy

C. High hydration ethalpy of lithium ion

D. Low ionisation enthalpy of lithium atom

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_E0k2trCNLNHA
https://dl.doubtnut.com/l/_C9oT7MNRsp3g

32. The reducing power of a metal depends on various

factors. Suggest the factor which makes Li, the strongest

reducing agent in aqueous solution.

A. Sublimation enthalpy

B. lonisation enthalpy

C. Hydration enthalpy

D. Electron-gain enthalpy

Answer: C

° Watch Video Solution

33. Mg, C5 reacts with water forming propyne. C’;_ has


https://dl.doubtnut.com/l/_q0t3ZYYHRiir
https://dl.doubtnut.com/l/_tYGbxzYKNsIO

A. two sigma and two pi bonds

B. three sigma and one pi bond

C. two sigma and one pi bond

D. two sigma and three pi bonds

Answer: A

o Watch Video Solution

34. The flouride which is most soluble in water

A. CG/F2

B. BCLFQ

C. S’I"FQ


https://dl.doubtnut.com/l/_tYGbxzYKNsIO
https://dl.doubtnut.com/l/_wttKgo4ckZ9u

D. B€F2

Answer: D

° Watch Video Solution

35. The highest occupied energy level of the group 2
elements radius is 732, which of these statements is likely
to be incorrect?
A.The element will show an oxidation state +Il in all its
compounds
B.The element will decomposes water, liberating
hydrogen

C. Hydroxide of the elements will be amphoteric


https://dl.doubtnut.com/l/_wttKgo4ckZ9u
https://dl.doubtnut.com/l/_eveOMOv17ML3

D. Metal carbonate is relative stable at higher

temperature than calcium carbonate

Answer: C

o Watch Video Solution

36. Amongst the following hydroxides, the one which has
the highest value of K, at orinately temperature is :
A.Mg(OH),
B.Ca(OH),
C.Sr(OH),

D. Ba(OH),


https://dl.doubtnut.com/l/_eveOMOv17ML3
https://dl.doubtnut.com/l/_KzrJ6ZeZYtZJ

Answer: D

o Watch Video Solution

37. Which of the following alkaline earth metal hydroxides is
the least soluble in water?

A. Be(OH),

B. Mg(OH),

C.Ca(OH),

D. Ba(OH),

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KzrJ6ZeZYtZJ
https://dl.doubtnut.com/l/_IZ1AdTCVXw3Z

38. The thermal stability of alkaline earth metal carbonates

— MgCO;3, CaCOs3, STCO3 and BaCOQOs3,follows order

A. BaCO3 > SrCO3 > MgCOs;

B.CaCO3 > SrCO5; > M9003 > BaCOs;

C. MgCO3 > CaCO3 > SrCO3 > BaCO;

D. BaCO (3)gtSrCO (3)gtCaCO (3)gtMgCO (3)

Answer: D

° Watch Video Solution

39. Magnesium has polarising power close to that of :

A Li"


https://dl.doubtnut.com/l/_wAFCKODulTer
https://dl.doubtnut.com/l/_TDjpGSYS3wlG

B.Na™

CK™

D.Cs™

Answer: A

° Watch Video Solution

40. Which of the following salt does not impart colour to
the flame?

B. Mg(OH),

C. Mg(OH)CI


https://dl.doubtnut.com/l/_TDjpGSYS3wlG
https://dl.doubtnut.com/l/_QWwbe31nZwec

Answer: A

o Watch Video Solution

41. Mortal is mixture of :

A.Ca(OH),,silica and water
B.CCLCO3 and 51,02
C. CaO andsilica

D. CaCQO3, Si0O5 and water

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QWwbe31nZwec
https://dl.doubtnut.com/l/_x5lxJYSylzrg

42. When hydrated MgC'I,.6H,0 is strongly heated,

A. MgO
B. Mg(OH),
C. Mg(OH)CI

D. Mg(OH),

Answer: A

o Watch Video Solution

43. A piece of magnesium ribbon was heated to redness in
an atmosphere of nitrogen and then cooled with water. The

gas evolved is


https://dl.doubtnut.com/l/_CdSIPSEddQ9u
https://dl.doubtnut.com/l/_dJVknpsGNnRa

A. ammonia

B. hydrogen

C. nitrogen

D. oxygen

Answer: A

° Watch Video Solution

44. Plaster of paris when mixed with the correct amount of

water sets into solid mass due to the formation of:

A. CaSO4
B. (CCLSO4)2 . HQO

C.CaSOy4 - 2H,0


https://dl.doubtnut.com/l/_dJVknpsGNnRa
https://dl.doubtnut.com/l/_ZGGqwKhyzH3V

D.CaO

Answer: C

o Watch Video Solution

45, Plaster of paris is

A. CCLSO4

B. CCLSO4 . 7H20

C.2CaS0O, - H,O

D.CaSOy - 2H,0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZGGqwKhyzH3V
https://dl.doubtnut.com/l/_SLgW3eBU3XbB

46. Mg liberates H, on reaction with

A. dil.HCI

B. dil. H,S0,

C.very diLHNO;3

D. All of these

Answer: D

° Watch Video Solution

47. At high temperature, nitrogen combines with CaC5 to

give :


https://dl.doubtnut.com/l/_SLgW3eBU3XbB
https://dl.doubtnut.com/l/_JjbQHPzOTV3p
https://dl.doubtnut.com/l/_hUa32C3vzFMp

A. Calcium Cyanide

B. Calcium Cyanamide

C. Calcium Carbonate

D. Calcium Nitride

Answer: B

° Watch Video Solution

48. Calcium hybride on hydrolysis forms?

A.CaO + H2
B.Ca(OH), only

C. CCL(OH)2 —|— HQ


https://dl.doubtnut.com/l/_hUa32C3vzFMp
https://dl.doubtnut.com/l/_LO4onFJmA82P

D. Only CaO

Answer: C

° Watch Video Solution

49. Magnesium wire burns in the atomosphere of CO,

because

A. Magnesium acts as an oxidising agent

B. Magnesium has two electrons in the outmost shell

C. Magnesium acts as a reducing agent and removes

oxygen from CO,

D. None of these


https://dl.doubtnut.com/l/_LO4onFJmA82P
https://dl.doubtnut.com/l/_QLjVRY8yyAfo

Answer: C

o Watch Video Solution

50. MgO is used for lining furnces because:

A. of high melting point of MgO

B. Mgo is a very good conductor of heat

C. MgO is an electrical insulator

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QLjVRY8yyAfo
https://dl.doubtnut.com/l/_ymjcxAJxTq8Z

51. Among LiCI, RbCI, BeCI, and MgCI, the compound

with the greatest and least ionic character respectively are

A. LiCl and RbCI

B. RbCl and BeCl,

C. RbCl and MgCl,

D. MgCly; and Be(Cl,

Answer: B

o Watch Video Solution

52. Which of the following compounds does not have

similarity in their structural aspects?


https://dl.doubtnut.com/l/_rGJUrPzgfmob
https://dl.doubtnut.com/l/_Sxd5fZA71Or6

A FeSO, - TH,0

B. Na2003 : 7H20

C. MgSO4 . 7H20

D. Z’I’LSO4 : 7H2O

Answer: B

° Watch Video Solution

53.By adding gypsum to cement

A. Setting time of cement becomes less

B. Setting time of cement increase

C. Colour of cement becomes light


https://dl.doubtnut.com/l/_Sxd5fZA71Or6
https://dl.doubtnut.com/l/_pT1gyMXRx2jz

D. Shining surface is obtained

Answer: C

° Watch Video Solution

54. A chemical A is used for the preparation of washing
soda to recover ammonia. When CO, is bubbled through
an aqueous solution of A, the solution turns milky. It is used
in white washing due to disinfectant nature what is the

chemical formula of A?

A.Ca(HCOs),
B.CaO

C.Ca(OH),


https://dl.doubtnut.com/l/_pT1gyMXRx2jz
https://dl.doubtnut.com/l/_xvDDrmmCHNoY

D. CG,CO3

Answer: B

° Watch Video Solution

55. Which of the not similar characteristic (s) about the

electronic configuration of Be, Mg, Ca?

A.All the atoms have a pair of s-electrons in their

outermost energy level

B. All the atoms contains a pair of p-electrons in their

outermost energy level

C. All are alkaline earth metals

D. All are of second group of the periodic table


https://dl.doubtnut.com/l/_xvDDrmmCHNoY
https://dl.doubtnut.com/l/_eEa3l30ymfrj

Answer: B

o Watch Video Solution

56. Sodium bicarbonate has :

A. lonic bond

B. Covalent bond

C. Hydrogen bond

D. All of these

Answer: (d)

° Watch Video Solution



https://dl.doubtnut.com/l/_eEa3l30ymfrj
https://dl.doubtnut.com/l/_Mtax0lTGPkjM

57. Which of the following metal on burning in moist air

does not give smell of ammonia?

A. Mg

B. Ca

C.K

D. Li

Answer: C

o Watch Video Solution

58. For the alkali metals, which of the following increase

with increasing atomic number?


https://dl.doubtnut.com/l/_Q4JYsHdwy8Xv
https://dl.doubtnut.com/l/_kloqkIkzcHNL

A. First ionization energy

B. Electronegativity

C. Hydration energy of the univalent ion

D. Atomic radius

Answer: D

° Watch Video Solution

59. Among the carbonates of alkali metals which one has

highest thermal stability ?

A. 082003

B. Rby,CO3

C. K,CO;


https://dl.doubtnut.com/l/_kloqkIkzcHNL
https://dl.doubtnut.com/l/_rNwsl8q3mehz

D. Na2 003

Answer: A

o Watch Video Solution

60. Which of the following is most soluble in water?

A. CSClO4

B. NaClO4

C. KClOy

D. LiClOy

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_rNwsl8q3mehz
https://dl.doubtnut.com/l/_mw3bazuwxvho

61. A solution of sodium in liquid ammonia is blue in colour

due to:

A. The presence of ions Na "
B. The presence of ammoniated electron
C. The formation of NaNH,

D. The formation of sodium hydride

Answer: B

° Watch Video Solution

62. The order of basicity of hydroxides of alkali metals is


https://dl.doubtnut.com/l/_mw3bazuwxvho
https://dl.doubtnut.com/l/_nUpMx3oQP4GR
https://dl.doubtnut.com/l/_ZHpBAb40eEl4

A.Li > Na > Rb > Cs

B.Na > Li: > Rb > Cs

C.Cs > Rb > Na > Li

D.Rb > Cs > Na > L1

Answer: C

° Watch Video Solution

63. The metallic lustre exhibited by sodium is explained by

A. diffusion of Na ™ ions

B. oscillation of loose electrons

C. excitation of free protons


https://dl.doubtnut.com/l/_ZHpBAb40eEl4
https://dl.doubtnut.com/l/_kwnNzNDRp8ni

D. existence of body-centered cubic lattice

Answer: B

o Watch Video Solution

64.Soda lime is made from:

A.Na + CaO + HQO
B.CaO + NaOH/aq)
C. NaOH + CaCOs

D. NGHCOg + CCLO

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kwnNzNDRp8ni
https://dl.doubtnut.com/l/_uY35Ch6AW02L

65. Microcosmic salt is

A. NCL2HPO4 . 2H20
B. Na(NH,)HPO, - 4H,O
C. NalNH4PO4 : 2H20

D. (NH,),HPO, - 2H,0

Answer: B

° Watch Video Solution

66. Potassium when heated strongly in oxygen, if forms :

A. K50


https://dl.doubtnut.com/l/_uY35Ch6AW02L
https://dl.doubtnut.com/l/_QwmkR5XhQX3V
https://dl.doubtnut.com/l/_BCjl9fi71e4l

B. KO,

C. K,0,

D. KO;

Answer: B

° Watch Video Solution

67. When a concentrated solution of ammonia is saturated

with sodium chloride in the presence of pieces of dry ice, a

water cloud forms . Thid is due to the,

A. precipitation of sodium carbonate from the reaction

mixture


https://dl.doubtnut.com/l/_BCjl9fi71e4l
https://dl.doubtnut.com/l/_Y9zhF5Ck3WEs

B. precipitation of sodium hydrogen carbonate from the

reaction mixture

C. precipitation of ammonium hydrogen carbonate from

the reaction mixture

D. precipitation of ammonium carbonate

Answer: B

° Watch Video Solution

68. On heating sodium metal in a current of dry ammonia,

the compound formed is

A. sodium imide

B. sodium nitride


https://dl.doubtnut.com/l/_Y9zhF5Ck3WEs
https://dl.doubtnut.com/l/_GOkhLc57l7N2

C.sodium amide

D. sodium azide

Answer: C

o Watch Video Solution

69. Which of the following compounds is not obtained

when the products obtained from the electrolysis of brine

are mixed?

A. NaCl

B. I,

C. NaOCl

D. Cl,


https://dl.doubtnut.com/l/_GOkhLc57l7N2
https://dl.doubtnut.com/l/_dITskgk5IAIb

Answer: D

o Watch Video Solution

70. When dry ammonia gas is passed over heated sodium

(out of contact of air) the product forms is

A. sodium hydride

B. sodium nitride

C.sodamide

D. sodium cyanamide

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dITskgk5IAIb
https://dl.doubtnut.com/l/_EgAuhAn6xzm2

71. Which of the folowing compounds liberates oxygen on

heating?

A. LiyCOs

B. LiOH

C. LiNO;

D. NaOH

Answer: C

o Watch Video Solution

72.Sodium peroxide is used to purify the an m submarines

and confined spaces because:


https://dl.doubtnut.com/l/_EDtVMsd4ti1n
https://dl.doubtnut.com/l/_XgKBnvFsa1AE

A. It removes C O, and produces O,

B. it decomposes to form Na,O

C. it reacts with oxygen to form sodium superoxide

D. None of these

Answer: A

° Watch Video Solution

73. Which of the following salt is known as washing sode?

A. Na2 003

B. NCLQC03 . HQO

C. NG,2CO3 : 10H20


https://dl.doubtnut.com/l/_XgKBnvFsa1AE
https://dl.doubtnut.com/l/_5sGwsm9jCjj9

D. NCI,2CO3 : 5H2O

Answer: C

o Watch Video Solution

74. Which of the following compounds is formed when

sodium burns in excess supply of air?

A. Sodium suboxide

B. Sodium oxide

C. Sodium peroxide

D. Sodium superoxide

Answer: C

| o |


https://dl.doubtnut.com/l/_5sGwsm9jCjj9
https://dl.doubtnut.com/l/_conGD2dTfxYe

| & Watch Video Solution

75. Glauber's salt is :

A. Na,2504

B. NayCOs - HyO

C. Na2C03 : 5H20

D. Na2003 . 10H20

Answer: D

° View Text Solution

76. Sodium hydroxide is produced on a large scale


https://dl.doubtnut.com/l/_conGD2dTfxYe
https://dl.doubtnut.com/l/_OUPWiNxlolz1
https://dl.doubtnut.com/l/_OLJDMG8yNdxv

A. by the hydrolysis of NayC'O3

B. by the electrolysis of an aqueous solution of NaCl

C. by adding water to sodium oxide

D. by reacting sodium with water

Answer: B

° Watch Video Solution

77. Which of the following metal is used in flash bulbs?

A. Be

B. Mg

C.Ca


https://dl.doubtnut.com/l/_OLJDMG8yNdxv
https://dl.doubtnut.com/l/_xVsCtP9jGxm8

D. Ba

Answer: B

° Watch Video Solution

78. The pairs of compounds which cannot exist together in
aquous solution are:
(DNaH5;PO4 and Na;HCO3 (WNayCO3 and NaOH

(IMNaOH and NaHyPO, (V)YNaHCQO3 and NaOH

° Watch Video Solution

79. On reacting with NaOH, which gives inflammable gas?


https://dl.doubtnut.com/l/_xVsCtP9jGxm8
https://dl.doubtnut.com/l/_wlfmTYi7XbXf
https://dl.doubtnut.com/l/_RZi8zdNyegiF

AS

B.Zn

C. NH,CI

D. I,

Answer: B

° Watch Video Solution

80. In the reaction

LiH + AlH3 — LiAlH,, AlH; and LiH acts as:

A. Lewis acid and Lewis base

B. Lewis base and Lewis acid

C. Bronsted base and Bronsted acid


https://dl.doubtnut.com/l/_RZi8zdNyegiF
https://dl.doubtnut.com/l/_bf38UISK0eET

D. None of these

Answer: A

° Watch Video Solution

81. Which of the following is the most important factor in

making lithium metal, the strongest reducing agent?

A. lonisation energy

B. Hydration energy

C. Heat of sublimation

D. None of these

Answer: B

| o |


https://dl.doubtnut.com/l/_bf38UISK0eET
https://dl.doubtnut.com/l/_1gTTaoDpv6Ae

| & Watch Video Solution ]

82. Which set of compounds in the following pair of ionic

compounds has the higher lattice energy ?

(i)

KCl or MgO  (it)LiF or LiBr  (iii)Mg3Ny; or NaCl
A. KCl, LiBr, Mg3N,
B. MgO, LiBr, Mg N,
C. MgO, LiF, NaCl

D. MgO, L’LF, MggNg

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1gTTaoDpv6Ae
https://dl.doubtnut.com/l/_qh1xp3lj6WLX
https://dl.doubtnut.com/l/_oWwrIhpFHatl

83. Sodium hydroxide has :

A. lonic bond

B. Covalent bond

C. Hydrogen bond

D. All of these

Answer:

° Watch Video Solution

84.Compounds having lowest melting point:

A. LiCl

B.CsCl


https://dl.doubtnut.com/l/_oWwrIhpFHatl
https://dl.doubtnut.com/l/_HSbSb69aNtTH

C. RbCl

D. KCl

Answer: A

° Watch Video Solution

85. which two groups are present in s-block :-

° Watch Video Solution

86. The solubility of metal halides depends on their nature,
Lattice enthalpy and hydration enthalpy of the individual
ions. Amongst fluorides of alkali metals, the lowest

solubility of LiF in water is due to


https://dl.doubtnut.com/l/_HSbSb69aNtTH
https://dl.doubtnut.com/l/_QtUkg4eqPBXj
https://dl.doubtnut.com/l/_0zzzjgc7j1Nw

A. lonic nature of lithium flouride

B. High lattice enthalpy

C. High hydration ethalpy of lithium ion

D. Low ionisation enthalpy of lithium atom

Answer: B

° Watch Video Solution

87. The reducing power of a metal depends on various

factors. Suggest the factor which makes Li, the strongest

reducing agent in aqueous solution.

A. Sublimation enthalpy

B. lonisation enthalpy


https://dl.doubtnut.com/l/_0zzzjgc7j1Nw
https://dl.doubtnut.com/l/_Wn7r1MtDELgz

C. Hydration enthalpy

D. Electron-gain enthalpy

Answer: C

o Watch Video Solution

88. M g,C5 reacts with water forming propyne. Cg_ has

A. two sigma and two pi bonds
B. three sigma and one pi bond
C. two sigma and one pi bond

D. two sigma and three pi bonds

Answer: A



https://dl.doubtnut.com/l/_Wn7r1MtDELgz
https://dl.doubtnut.com/l/_VcJUZ39DzFlY

| ° Watch Video Solution

89. The flouride which is most soluble in water

A. C&Fz

B. BCLFQ

C. STFQ

D. B€F2

Answer: D

° Watch Video Solution

90. The highest occupied energy level of the group 2

elements radius is 732, which of these statements is likely


https://dl.doubtnut.com/l/_VcJUZ39DzFlY
https://dl.doubtnut.com/l/_gQZDa4Q84fGe
https://dl.doubtnut.com/l/_9RnmARHeqy8A

to be incorrect?

A. The element will show an oxidation state +Il in all its

compounds

B.The element will decomposes water, liberating

hydrogen

C. Hydroxide of the elements will be amphoteric

D. Metal carbonate is relative stable at higher

temperature than calcium carbonate

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_9RnmARHeqy8A

91. Amongst the following hydroxides, the one which has
the highest value of K, at orinately temperature is :
A.Mg(OH),
B.Ca(OH),
C.Sr(OH),

D. Ba(OH),

Answer: D

o Watch Video Solution

92. Which of the following alkaline earth metal hydroxides

is the least soluble in water?


https://dl.doubtnut.com/l/_eMhIRsQ9HO1j
https://dl.doubtnut.com/l/_ljMypgC6kPLP

A.Be(OH),
B. Mg(OH),
C.Ca(OH),

D. Ba(OH),

Answer: A

° Watch Video Solution

93. The thermal stability of alkaline earth metal carbonates

MgCQOs3, CaCO3, BaCO3 and SrCOs3 decreases as:

A. BaCO3 > SrCO3 > MgCOs

B.CaCOs3 > SrCO3 > MgCO3 > BaCO;3

C. MgCO3 > CaCO3 > SrCO3 > BaCO;


https://dl.doubtnut.com/l/_ljMypgC6kPLP
https://dl.doubtnut.com/l/_cOYRT3bgHTys

D. BaCO3 > SrCO5 > CaCO3 > MgCOs

Answer: D

° Watch Video Solution

94. Magnesium cation has polarising power close to that of

A Li"

B.Na™

CK™

D.Cs™

Answer: A

| e |


https://dl.doubtnut.com/l/_cOYRT3bgHTys
https://dl.doubtnut.com/l/_IE2sI0R11gde

| & Watch Video Solution ]

95. Which of the following salt does not impart colour to
the flame?

B. Mg(OH),

C. Mg(OH)CI

D. C&Clz

Answer: A

° Watch Video Solution

96. Mortar is mixture is ,


https://dl.doubtnut.com/l/_IE2sI0R11gde
https://dl.doubtnut.com/l/_novXwjcdhU7A
https://dl.doubtnut.com/l/_y5DAX8qij32D

A.Ca(OH),,silica and water
B. CaCO3 and Si0,
C. C'aO and silica

D. CaCOs, Si0O3 and water

Answer: A

° Watch Video Solution

97. What is colour change when CuSOy - 5H50 is strongly

heated :-

° Watch Video Solution



https://dl.doubtnut.com/l/_y5DAX8qij32D
https://dl.doubtnut.com/l/_EYxhr7t2E9ds

98. A piece of magnesium ribbon was heated to redness in

an atmosphere of nitrogen and then cooled with water. The

gas evolved is

A. ammonia

B. hydrogen

C. nitrogen

D. oxygen

Answer: A

° Watch Video Solution

99. Plaster of paris when mixed with the correct amount of

water sets into solid mass due to the formation of:


https://dl.doubtnut.com/l/_hjw0ohF60YUu
https://dl.doubtnut.com/l/_i4PyMFJEYBNH

A. CGSO4
B. (CaS0,), - HyO
C.CaSO, - 2H,0

D.CaO

Answer: C

° Watch Video Solution

100. Plaster of paris is :

A. CaSO4

B. CCLSO4 . 7H20

C.2CaS0O, - H,O


https://dl.doubtnut.com/l/_i4PyMFJEYBNH
https://dl.doubtnut.com/l/_NrblD1A2D5CV

D. CCLSO4 : 2H2O

Answer: C

o Watch Video Solution

101. Mg liberates H, on reaction with

A. dil.HCI

B.dil. H,50,

C.very diLHNOj;

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_NrblD1A2D5CV
https://dl.doubtnut.com/l/_qeHFQnUMs6nN

102. At high temperature, nitrogen combines with CaCs to

give :

A. Calcium Cyanide

B. Calcium Cyanamide

C. Calcium Carbonate

D. Calcium Nitride

Answer: B

° Watch Video Solution

103. Calcium hybride on hydrolysis forms?


https://dl.doubtnut.com/l/_qeHFQnUMs6nN
https://dl.doubtnut.com/l/_kPZZUrQugneO
https://dl.doubtnut.com/l/_PYGhkWrSxaMW

A. C(IO + H2
B.Ca(OH), only
C. CCL(OH)2 + H2

D. Only CaO

Answer: C

° Watch Video Solution

104. Magnesium wire burns in the atomosphere of C'O,

because

A. Magnesium acts as an oxidising agent

B. Magnesium has two electrons in the outmost shell


https://dl.doubtnut.com/l/_PYGhkWrSxaMW
https://dl.doubtnut.com/l/_pEXXyeIn5BUn

C. Magnesium acts as a reducing agent and removes

oxygen from CO,

D. None of these

Answer: C

° Watch Video Solution

105. MgO is used for lining furnces because:

A. of high melting point of MgO

B. Mgo is a very good conductor of heat

C. MgO is an electrical insulator

D. None of these


https://dl.doubtnut.com/l/_pEXXyeIn5BUn
https://dl.doubtnut.com/l/_GQvBJwlQySRw

Answer: A

° Watch Video Solution

106. Among LiCI, RbCI, BeCl, and MgClI, the
compound with the greatest and least ionic character
respectively are

A. LiCl and RbCI

B. RbCl and BeCl,

C. RbCl and MgCl,

D. MgCly; and Be(Cl,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_GQvBJwlQySRw
https://dl.doubtnut.com/l/_rzPYsErrUuje

107. Which of the following compounds does not have

similarity in their structural aspects?

A. FGSO4 : 7H20

B. Na2003 : 7H20

C. MgSO4 : 7H20

D. Z’I’LSO4 : 7H2O

Answer: B

o Watch Video Solution

108. By adding gypsum to cement


https://dl.doubtnut.com/l/_rzPYsErrUuje
https://dl.doubtnut.com/l/_MtvvQsqy0K3i
https://dl.doubtnut.com/l/_tRVJMvkkm88i

A. Setting time of cement becomes less

B. Setting time of cement increase

C. Colour of cement becomes light

D. Shining surface is obtained

Answer: C

o Watch Video Solution

109. Which of the following is peroxide?

A. K50

B. K202

C. KO,


https://dl.doubtnut.com/l/_tRVJMvkkm88i
https://dl.doubtnut.com/l/_iz4p5k6vrxtY

D. None

Answer: B

o Watch Video Solution

110. Which of the following is peroxide?

A. K,O

B. K202

C. KO,

D. None

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iz4p5k6vrxtY
https://dl.doubtnut.com/l/_vjAbvtdFapnt

Level 2
more

1.K02—|—CO2—|—H207>A+B,thenAand B are
2

respectively

A. K,CO3, O,
B. KHCOs, O,
c. KOH, K,COs

D. KHCO;, H,O

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vjAbvtdFapnt
https://dl.doubtnut.com/l/_2bJ8lye1UT1O

2.The correct order of increasing solubility in water is:

A KF < NaF < LiF

B.NaHCO3; < KHCO3 < RbHCO;

C. K;C0O3 < NayCO3 < LinCO;

D. LiNO; < NaNOs

Answer: B

o Watch Video Solution

3. Which of the following carbonate salt is soluble due to

high entropy change?

A. K;,COs4


https://dl.doubtnut.com/l/_kOeggoa2hFYX
https://dl.doubtnut.com/l/_UiKT6ef65W3u

B. Li,CO4
C.(NHy),CO;4

D. NCLQ 003

Answer: C

° Watch Video Solution

4. Which of the following compounds decompose on

heating ?

A. NCI,HCO3

B. Na2C03

C.CaCO3

D. K550,


https://dl.doubtnut.com/l/_UiKT6ef65W3u
https://dl.doubtnut.com/l/_RaPh4F3dHSWw

Answer: A::C

° Watch Video Solution

5. Li does not resemble with other alkali metals in following
properties?
A. Lio,C O3 decomposes into oxides while other alkali
metal carbonate are thermally stable
B. LICI is predominately covalent
C. Lig N is formed when Li metal is heated with Nygas

D. All of these

Answer: D

| ° \Wiak~hh \iAAA CAliikian



https://dl.doubtnut.com/l/_RaPh4F3dHSWw
https://dl.doubtnut.com/l/_3mYRyEyevHWg

| ¢ AA A LA IR AL AV Ay lYAL 1910910 J

6. Which of the following statement about the sulphate of

alkali metal is correct ?

A. Except Li;C'O, all sulphate of other alkali metals are

soluble is water

B. All sulphate salt of alkali metals except lithium

sulphate forms alum

C. All sulphate salts of alkali metals except lithium

sulphate do not decomposes at high temperature

D. All of these

Answer: D

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_3mYRyEyevHWg
https://dl.doubtnut.com/l/_gx4ljwj4tZuK

7. The metallic lustre of metals is due to :

A. they have a hard surface and light is reflected back

B. their crystal structure contains ordered arrangement

of constituent atoms

C. they contain loosely bound electrons which absor the

photons and then re-emit

D. they are obtained from the minerals on which light

has been falling for years

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_gx4ljwj4tZuK
https://dl.doubtnut.com/l/_lpBBBZOehf92

8. Select incorrect statement:

A. Li5COs is only sparingly soluble in water and no

LiHCOs3 has been process

B. K,CO3 can not be made by a method similar to the

solvey process

C. Li,CO3 and MgCQOj3 both are thermally stable

D. NayCOs, NaHCQOs3 - 2H50 is a mineral called trona

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xwmi7lRApzQY

9. Melting point of mixture of NayCO3; + K5COj3, mixture

IS :

A. Higher than that of NayC'O;

B. Higher than that of K,C'O3

C. Lower than that of both Na,CO3 and K5;CO;5

D. Lower than that of K,CO3 only

Answer: C

o Watch Video Solution

10. Select incorrect statement:


https://dl.doubtnut.com/l/_mq6fkvRPiVia
https://dl.doubtnut.com/l/_bW4GlB7GY5Mx

A. Stability of peroxides and superoxides of alkali metals

increase in size of the metal ion

B. NaOH does not form hydrated salt

C.Increase in stability in (a) is due to stabilisation of

large anoin by larger cations through lattice energy

effects

D. The low solubility of LiF is due to its high lattice

energy whereas low solubility of Csl is due to smaller

hydration energy

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_bW4GlB7GY5Mx
https://dl.doubtnut.com/l/_LYqm2gRUCMMm

11. The alkali metals dissolve in liquid N Hj, it is found that:

A.The dilute solution are blue but the colour changes

to brone with increasing concentration

B.The blue colour is due to presence of solvated

electrons

C. The blue solutions are paramagnetic but the bronze

coloured solutions are diamagnectic

D. All the facts given above are found

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_LYqm2gRUCMMm

12. Among the nitrate of alkali metals which one can be

decomposed to its oxide on strong heating?

A. NGN03

B. KNO;

C. LiNO;

D. All of these

Answer: D

o Watch Video Solution

13. When a standard solution of NaOH is left in air for a few

hours:


https://dl.doubtnut.com/l/_11gDi4TmJWtM
https://dl.doubtnut.com/l/_KeVAxJ8G9imn

A. a precipitate will form

B. strength of solution will decrease

C. the strength of solution will increase

D.the concentration of Na™ ion in solution will

remains same

Answer: B

° Watch Video Solution

14. The addition of Na;COs, to the aqueous solution of an

oxide produces C'O,. This reaction indicates that

A. the oxide is basic

B. the oxide is amphoteric


https://dl.doubtnut.com/l/_KeVAxJ8G9imn
https://dl.doubtnut.com/l/_d18mfDKOYKk7

C.the oxide is that of a metal

D. the oxide is that of a non-metal

Answer: D

o Watch Video Solution

BaCl> . L. .
15. Salt A+ S — B—— White precipitate A is

paramagnetic in nature and contains about 55% K. Thus, A
is

A K50

B. K202

C. KO,

D. K550,


https://dl.doubtnut.com/l/_d18mfDKOYKk7
https://dl.doubtnut.com/l/_mbP8gZSjkj5T

Answer: C

° Watch Video Solution

16. Baking powder used to make cake is a mixture of starch,
NaHCOs3 and Ca(H,PO,),. The function of
CCI,(HQPO4)2 is
A. to show down the release of CO, gas
B.being acidic in nature and gives CO,; when
moistened with Na HC'O;
C.to act as a filler

D. None of these

Answer: B


https://dl.doubtnut.com/l/_mbP8gZSjkj5T
https://dl.doubtnut.com/l/_borp79tBed80

° Watch Video Solution

17.To an acidified dichromate solution, a pinch of NayO, is

added and shaken. What is observed ?

A. Blue colour

B. Orange colour changing to greeen directly

C. Copious evolution of oxygen

D. Bluish-green precipitate

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_borp79tBed80
https://dl.doubtnut.com/l/_PmUCsyDAk9Pk

18. Which of the following compounds is consumed during

the preparation of Na;CO3 by Solvay's process?

A. NH3, C&COg, NaC’l

B. NH;, CaO, NaCl

C. CaCOs, NaCl

D. NaC’l, NH4HCO3

Answer: C

o Watch Video Solution

19. Which of the following statement is incorrect?


https://dl.doubtnut.com/l/_f6fqa5bYbYFG
https://dl.doubtnut.com/l/_CovzAR8zJroB

A.Sodium and potassium are soft and silvery white

metals

B. Sodium and potassium in air get tarnished due to the

formation of a layer of oxide or carbonates

C.Sodium and potassium burn in dry oxygen (excess)

giving peroxides

D. Sodium and potassium are kept under kerosene to

avoid the contact with air and moisture

Answer: C

° Watch Video Solution

20. Nitrogen dioxide can not be obtained from


https://dl.doubtnut.com/l/_CovzAR8zJroB
https://dl.doubtnut.com/l/_6gsPVEPw51xX

A. CU(N03)2
B. Hg(NOs3),
C. NCLNO3

D. AgNOg

Answer: C

° Watch Video Solution

21. A + H,O — NaOH

0)) 0]
A > B > NaOH + 02,
400°C at25°C

H,

B is used for oxygenating in submarines A and B are

respectively.

A. NayOy and NasO


https://dl.doubtnut.com/l/_6gsPVEPw51xX
https://dl.doubtnut.com/l/_B9eYIrEfKh1d

B. Nay,O and Na,0-

C. Na202 and 02

D. NCLQO and 02

Answer: B

° Watch Video Solution

22. Which of the following is widely used for treating ice on
roads, particularly in very cold countries?

A. CaCl, is less soluble in H5O than NacCl

B. CaCls is hygroscopic but NaCl is not

C. Eutectic mixture of CaCly/H,0 freezes at —55°C

while that of NaCl/H50 freezes at —18°C


https://dl.doubtnut.com/l/_B9eYIrEfKh1d
https://dl.doubtnut.com/l/_Enx5icKCLLMe

D. NaCl makes the road slipperty but CaCl, does not

Answer: C

o Watch Video Solution

23. A metal which does not react with nitrogen is :

A. Li

B. K

C.Ca

D. Mg

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Enx5icKCLLMe
https://dl.doubtnut.com/l/_WW8L2jYVqO4a

24. The pair of compounds which cannot exist together in

aqueous solution is:
(I)NaH,PO, and NaHCO; (II)Nay,CO3 and

NaHCOg

(III)NaOH and NaH,PO, (IV)NaHCO3 and
NaOH

A LI

B. I, 11l

C. L v

D.only IV

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_WW8L2jYVqO4a
https://dl.doubtnut.com/l/_ZtXbguFvmwUA

25. The incorrect order of solubility in water is:

A.Ca(OH), < Sr(OH), < Be(OH),
B. LioCO3 < Nay;CO3 < K7COs
C. KNOg < RbN03 < CSNOg

D. BaS;03 < MgS,03 < CaS;05

Answer: D

o Watch Video Solution

26. Which metal bicarbonates does not exist in solid state?

(\LiHCOj (i)Ca( HCOs), (i) Zn(HCOs), (iv)CaS,03


https://dl.doubtnut.com/l/_ZtXbguFvmwUA
https://dl.doubtnut.com/l/_nY8aUg8fTcB6
https://dl.doubtnut.com/l/_nEZHc6GsZDZa

A. (i)

B. (ii)

C. (iii)

D. (iv)

Answer: A

° Watch Video Solution

27. Which of the following order is correct?

AK'Y < Ca®t < P < S? lonicsize
B. Na,, > K, > Rb,; > Cs,:

conductance

Electrical


https://dl.doubtnut.com/l/_nEZHc6GsZDZa
https://dl.doubtnut.com/l/_a9lHXqHqdVtB

C. Alg,;f > Mggqf > Naj[]_: Hydrated size

D.1,, < Bry. > Cl,, > F,, :lonic mobility

Answer: C

o Watch Video Solution

. é H>0 HCI .
28. Metal M + air s A s B > White fumes,

Metal M can be:

A. Li, Mg

B. Li, Al or K

C.Na, Kor Mg

D. Li,Na or K


https://dl.doubtnut.com/l/_a9lHXqHqdVtB
https://dl.doubtnut.com/l/_Kyf2SUCwsrDO

Answer: A

o Watch Video Solution

29.X and Y are two metals. When burnt in air, X forms only

oxide while Y forms oxide and nitride. The metals X and Y

may be:

A.Ca and Mg

B. Na and Mg

C.Liand Na

D.Na and K

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Kyf2SUCwsrDO
https://dl.doubtnut.com/l/_IeV2ifO88xi4

30. Which is incorrect statement?

A. The heats of hydration of the dipositive alkaline earth

metal ions decrease with an increase in their ionic

size

B. NaNO; forms NayO5 on heating

C. Hydration of alkali metal ion is less than that of IIA

group

D. Alkaline earth metal ions, because of their much

larger charge to size ratio, exert much stronger

electrostatic attraction on the oxygen of water

molecule surrounding them


https://dl.doubtnut.com/l/_IeV2ifO88xi4
https://dl.doubtnut.com/l/_LYYruPXVCLyr

Answer: B

° Watch Video Solution

31. Which of the following statement is incorrect?

A. The atomic radius of Na is greater than that of Mg

B. Metallic bond of Mg is stronger than the metallic

bond in Na

C. Melting and boiling point of Mg are greater than

those of Ca

D. Ma and Ca are the most abundant elements amongst

the alkaline earth metals


https://dl.doubtnut.com/l/_LYYruPXVCLyr
https://dl.doubtnut.com/l/_1EQ935Lc6mTj

Answer: C

° Watch Video Solution

32. Thermal stability of MCOj is in order:

A. BeCO3 < MgCO3; < CaCO3 < SrC0O3 < BaCO4

B. MgCO3; < BeCO3 < CaC0O3 < SrCO3BaCOs

C.CaCO3 < S7C0O3 < BaCO3 < BeCO3 < MgCOsq

D. BaCO3 > SrC0O3; > CaCO3 > MgCO3 < BeCOs3

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1EQ935Lc6mTj
https://dl.doubtnut.com/l/_f9h4fTFUusTb

33. Select incorrect statement about alkaline earth metals:

A. Solubility of sulphates decrease down the group

B. Solubility of hydroxides decrease down the group

C.Thermal stability of carbonates increase down the

group

D. Basic nature increase down the group

Answer: B

o Watch Video Solution

34. In polymeric (BeCls,), , there are:

A. Three centre four-electron bonds


https://dl.doubtnut.com/l/_yIIY9ljcJd1o
https://dl.doubtnut.com/l/_dSQb82SayO2n

B. Three centre three-electron bonds

C. two centre three-electron bonds

D. two centre two-electron bonds

Answer: A

° Watch Video Solution

35. A metal is burnt in air and the ash on moistening smells

of ammonia. The metal is

A. Na

B. Fle

C. Mg

D. Al


https://dl.doubtnut.com/l/_dSQb82SayO2n
https://dl.doubtnut.com/l/_CiNW5999le1w

Answer: C

o Watch Video Solution

36. Which is not obtained when metal carbides react with

H,0?

A. Al4C3 + H2O — CH =CH

B.CaC, + H,0 — CH = CH

C. Mg403 + HQO — CHgC =CH

D. BCQC + HQO — CH4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_CiNW5999le1w
https://dl.doubtnut.com/l/_kEbZs10LeCYO

37.Choose incorrect statement:

A. BeCOs is kept in the atmosphere of C'O, since, it is
least thermally stable

B. Be dissolves in alkali forming [Be(OH)4]2_

C. BeF), forms complex ion with NaF in which Be goes
with cation

D. BeF, forms complex ion with NaF in which Be goes

with anion

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_hjzwUERsw1CC

38. I1A (alkaline earth metals) and I1IB (zinc family) resemble:

A. MgSO, - TH50 is isomorphous with ZnSO, - TH,O

B.IIA and IIB cations are ont precipitated by H5S in

acidic medium

C. both (a) and (b)

D. None of the above

Answer: A

° Watch Video Solution

39. Select the correct statement:

A.Be and Al show diagonal relationship


https://dl.doubtnut.com/l/_YcFJU3WAr8h8
https://dl.doubtnut.com/l/_litrOypx4Ohs

B. Be forms tetrahedral complexes [Be(C204),] 2
C. Al forms AlF62_ , an octahedral complex

D. All are correct statements

Answer: D

° View Text Solution

40. Calcium imide on hydrolysis will give gas (B) which on
oxidation by beaching powder gives gas (C) gas (C) on
reaction with magnesium give compound (D). (D) on

hydrolysis gives gas (B). (B), (C) and (D) are

A. NH3, Ny, Mg3N,

B. Ny, NH;, MgNH


https://dl.doubtnut.com/l/_litrOypx4Ohs
https://dl.doubtnut.com/l/_akzH6ezgnRC8

C. Ny, N;O5, Mg(NOs),

D. NH3, NOy, Mg(NOs),

Answer: A

o Watch Video Solution

41. A compound X on heating gives a colourless gas. This
residue is dissolved in water to obtain Y. excess CO, is
bubbled through aqueous solution of Y, Z is formed. Z on
gentle heating give back X. the X is

A. CCLCO?,

B. Ca(HCO;),

C. Na2 COg


https://dl.doubtnut.com/l/_akzH6ezgnRC8
https://dl.doubtnut.com/l/_X6zZfaZHOYqy

D. NGHCO3

Answer: A

° Watch Video Solution

42. Which of the following statement is false?

A.The milk of magnesia used as antacid is chemically

MgO + MgCl,

B. Stability of alkali metal oxides incease with increase in

atomic numbers

C. Hydration energy of AgF is higher than its lattice

energy


https://dl.doubtnut.com/l/_X6zZfaZHOYqy
https://dl.doubtnut.com/l/_3V5TO1Amlwyf

D. Anhydrous MgCl; cannot be prepared by direct

heating of MgCl, - 6H,O

Answer: A

° Watch Video Solution

43. The more commonly used baking powder contains
about

30 % NaHCOs3, 20 % NaK(SO,),, 10 % Ca(HyPOy),
and 40% starch. Which of the following statements is/are

correct?

A.Ca(HyPOy,) is acidic and when moistened it reacts

with NaHCOy evolving CO, gas


https://dl.doubtnut.com/l/_3V5TO1Amlwyf
https://dl.doubtnut.com/l/_aCsWc4a90feA

B. NaAl(SO4), shows down the decomposition
reaction of NaHCQOj3 so that CO, is evolved more
slowly.

C. NaAl(S0y,), is acidic and when moistened it reacts
with NaHCO5 evolving CO,

D. Both (a) and (b)

Answer: D

o Watch Video Solution

m or eCO2

44. KOy + COs + HyO — [ X] + [Y] Products [X]

and [Y] are respectively:

A. K,C0;, O,


https://dl.doubtnut.com/l/_aCsWc4a90feA
https://dl.doubtnut.com/l/_nFIMROfVhgAk

B. KHCOs, O,

C. KOH, K,COs4

D. KHCO4, HyO

Answer: B

° Watch Video Solution

45.The correct order of increasing solubility in water is:

A KF < NaF < LiF

B. NaHCO3 < KHCO3 < RbHCOs

C. K;C0O3 < NayCO3 < LinCO;

D. LiNO3 < NaNO;


https://dl.doubtnut.com/l/_nFIMROfVhgAk
https://dl.doubtnut.com/l/_FluaRfziInk7

Answer: B

o Watch Video Solution

46. Which of the following carbonate salt is soluble due to
high entropy change?

A. K,CO;3

B. Li,CO3

C.(INHy),COs

D. Na2 COg

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FluaRfziInk7
https://dl.doubtnut.com/l/_zPXznuKMjrKU

47. Which of the following compounds decomposes on

heating?

A. NCLHCO3

B. Na2003

C.CaCOg

D. K550,

Answer: A::C

° Watch Video Solution

48. Li does not resemble with other alkali metals in

following properties?


https://dl.doubtnut.com/l/_VEpkkw7zSMve
https://dl.doubtnut.com/l/_SiWaz39M61av

A. Li,CO3 decomposes into oxides while other alkali

metal carbonate are thermally stable

B. LICI is predominately covalent

C. LigN is formed when Li metal is heated with Nygas

D. All of these

Answer: D

° Watch Video Solution

49. Which of the following statement about the sulphate of

alkali metal is correct ?

A. Except Li;CO, all sulphate of other alkali metals are

soluble is water


https://dl.doubtnut.com/l/_SiWaz39M61av
https://dl.doubtnut.com/l/_vLGYGJTmw6kg

B.All sulphate salt of alkali metals except lithium

sulphate forms alum

C.All sulphate salts of alkali metals except lithium

sulphate do not decomposes at high temperature

D. All of these

Answer: D

° Watch Video Solution

50. Alkali metals posses metallic lustre when freshly cut

because

A. they have a hard surface and light is reflected back


https://dl.doubtnut.com/l/_vLGYGJTmw6kg
https://dl.doubtnut.com/l/_Mx7KGc2OMGCE

B. their crystal structure contains ordered arrangement

of constituent atoms

C. they contain loosely bound electrons which absor the

photons and then re-emit

D. they are obtained from the minerals on which light

has been falling for years

Answer: C

° Watch Video Solution

51. Half life of long -lived isotopes Francium is :-

A. 21 minutes


https://dl.doubtnut.com/l/_Mx7KGc2OMGCE
https://dl.doubtnut.com/l/_nGpFqUgQeKch

B. 18 minutes

C. 23 minutes

D. 11 minutes

Answer: A

° Watch Video Solution

52. Melting point of mixture of NayCO3; + K5COs,
mixture is :

A. Higher than that of NayC'O;

B. Higher than that of K,CO3

C. Lower than that of both Na;,CO3; and K,CO;

D. Lower than that of K,CO3 only


https://dl.doubtnut.com/l/_nGpFqUgQeKch
https://dl.doubtnut.com/l/_nWBLAdWmgHAm

Answer: C

o Watch Video Solution

53. Which colour emission is radiated by potassium when

excited electrons come back to ground state :-

A. Crimson red

B. Red violet

C.Blue

D. Violet

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nWBLAdWmgHAm
https://dl.doubtnut.com/l/_GQFu1b6kAnW9

54.The alkali metals dissolve in liquid NHj, it is found that:

A. The dilute solution are blue but the colour changes

to brone with increasing concentration

B.The blue colour is due to presence of solvated

electrons

C.The blue solutions are paramagnetic but the bronze

coloured solutions are diamagnectic

D. All the facts given above are found

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_fvZSMt29Ni6d

55. Among the nitrate of alkali metals which one can be

decomposed to its oxide on strong heating?

A. NG,N03

B. KNO;

C. LiNO;

D. All of these

Answer: D

o Watch Video Solution

56. When a standard solution of NaOH is left in air for a few

hours:


https://dl.doubtnut.com/l/_YsHStYwKKKnf
https://dl.doubtnut.com/l/_65Faqe1H2qsG

A. a precipitate will form

B. strength of solution will decrease

C. the strength of solution will increase

D.the concentration of Na™ ion in solution will

remains same

Answer: B

° Watch Video Solution

57.The addition of Nay,COs, to the aqueous solution of an

oxide produces C'O,. This reaction indicates that

A. the oxide is basic

B. the oxide is amphoteric


https://dl.doubtnut.com/l/_65Faqe1H2qsG
https://dl.doubtnut.com/l/_WIhyERLtrd87

C.the oxide is that of a metal

D. the oxide is that of a non-metal

Answer: D

o Watch Video Solution

BaCl> . L. .
58. Salt A+ S — B—— White precipitate A is

paramagnetic in nature and contains about 55% K. Thus, A
is

A K50

B. K50,

C. KO,

D. K550,


https://dl.doubtnut.com/l/_WIhyERLtrd87
https://dl.doubtnut.com/l/_5zNtssEtPWMv

Answer: C

° Watch Video Solution

59. Baking powder used to make cake is a mixture of starch,
NaHCOs3 and Ca(H,PO,),. The function of
CCI,(HQPO4)2 is
A. to show down the release of CO, gas
B.being acidic in nature and gives CO,; when
moistened with Na HC'O;
C.to act as a filler

D. None of these

Answer: B


https://dl.doubtnut.com/l/_5zNtssEtPWMv
https://dl.doubtnut.com/l/_bu0CRPx28GkW

° Watch Video Solution

60. The tendency to lose their valence electron easily by

alkali metals makes them :-

A. Strong reducing agent

B. Weak reducing agent

C. Strong oxidising agent

D. Weak oxidising agent

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_bu0CRPx28GkW
https://dl.doubtnut.com/l/_oPj79Ge5V21Z

61. Which of the following compounds is consumed during

the preparation of Na;C O3 by Solvay's process?

A. NH3, CGCOg, NCLCl

B. NH;, CaO, NaCl

C.CaCOs3, NaCl

D. NaC’l, NH4H003

Answer: C

o Watch Video Solution

62. Which one is known as fusion mixture?

A. Na2003 + NCLHCO:),


https://dl.doubtnut.com/l/_ScIXM4qfU0EK
https://dl.doubtnut.com/l/_4WVNryReuoUb

B. NayCO3 + NaOH

C. NayCO3 +CaS0Oy

D. NCLQCOg + KzCOg

Answer: D

° Watch Video Solution

63. Nitrogen dioxide can not be obtained from

A. CU(N03)2
B. Hg(N03)2
C. NCLNO3

D. AgNOg


https://dl.doubtnut.com/l/_4WVNryReuoUb
https://dl.doubtnut.com/l/_Fn8k4QV5SL5Z

Answer: C

° Watch Video Solution

64. A + H,O — NaOH

Hy

0)) 0]
A > B > NaOH + O,,
400°C  at25°C

B is used for oxygenating in submarines A and B are
respectively.

A. Na202 and NCLQO

B.NGQO and Na202

C. Na202 and 02

D. Na,QO and 02

Answer: B



https://dl.doubtnut.com/l/_Fn8k4QV5SL5Z
https://dl.doubtnut.com/l/_NZKlM37thcue

‘ ° Watch Video Solution

65. CaCl, is preferred over NaCl for clearing ice on roads

particularly in very cold countries. This is because:

A. CaCl, is less soluble in H,O than NacCl

B. CaCls is hygroscopic but NaCl is not

C. Eutectic mixture of CaCly/H,0 freezes at —55°C
while that of NaCl/H50 freezes at —18°C

D. NaCl makes the road slipperty but C'aCl, does not

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_NZKlM37thcue
https://dl.doubtnut.com/l/_kNQ6NXIXXhqW
https://dl.doubtnut.com/l/_zosAUy3Ylzhy

66. A metal which does not react with nitrogen is :

A Li

B. K

C.Ca

D. Mg

Answer: B

° Watch Video Solution

67. The pair of compounds which cannot exist together in
aqueous solution is:
(I)NaH,POy; and NaHCO; (II)Nay,CO3 and

NG,HCO3


https://dl.doubtnut.com/l/_zosAUy3Ylzhy
https://dl.doubtnut.com/l/_8RuOIaRcCBK7

(III)NaOH and NaH,PO, (IV)NaHCOs and
NaOH

AL LT

B. 11, 11l

C. 1, v

D.only IV

Answer: D

° Watch Video Solution

68. The incorrect order of solubility in water is:

A.Ca(OH), < Sr(OH), < Be(OH),



https://dl.doubtnut.com/l/_8RuOIaRcCBK7
https://dl.doubtnut.com/l/_BlQbwwGIbXh0

B. LioCO3 < Nay;CO3 < K7COs

C.CsNOs; < RbNO; < KNOs

D. BaS;,05 < MgSQOg < CaS505

Answer: D

° Watch Video Solution

69. Which metal bicarbonates does not exist in solid state?

()\LiHCOs (i)Ca(HCO;), (i) Zn(HCO3), (iv)CaS;05

° Watch Video Solution

70. Which of the following order is correct?


https://dl.doubtnut.com/l/_BlQbwwGIbXh0
https://dl.doubtnut.com/l/_kPeypRnz5i3R
https://dl.doubtnut.com/l/_vndrg0tQVWXq

AK"T < Ca®" < P3~ < 8% lonicsize

B. Nag, > K, > Rby, > Cs.: Electrical
conductance

C. Alz(;r_ > Mggq‘f > Na,j[l,: Hydrated size

D.1,, < Bry, > Cl,, > F, :lonic mobility

Answer: C

° Watch Video Solution

. é H>0 HCI .
71. Metal M + air s A > B > White fumes, Metal

M can be:

A. Li, Mg

B. Li, Al or K


https://dl.doubtnut.com/l/_vndrg0tQVWXq
https://dl.doubtnut.com/l/_z6CXil3MNw9o

C.Na,Kor Mg

D. Li, Na or K

Answer: A

o Watch Video Solution

72.X and Y are two metals. When burnt in air, X forms only

oxide while Y forms oxide and nitride. The metals X and Y

may be:

A.Ca and Mg

B. Na and Mg

C.Li and Na

D.Na and K


https://dl.doubtnut.com/l/_z6CXil3MNw9o
https://dl.doubtnut.com/l/_eiahEkWefjFU

Answer: B

o Watch Video Solution

73. Which of the compound is known as slaked lime?

A. CaO
B. CaSOy
C.Ca(OH),

D. CCLCOg

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_eiahEkWefjFU
https://dl.doubtnut.com/l/_KJVanpQayjFL

74. when potassium burns in excess supply of air (

oxygen),it forms :-

A. oxide

B. Superoxide

C. Peroxide

D. none

Answer: B

o Watch Video Solution

75. Thermal stability of M COj is in order:

A. BeCO3 < MgCO?, < CaCO3 < SrC0O3 < BaCOsq


https://dl.doubtnut.com/l/_zrQb1oQyMzxP
https://dl.doubtnut.com/l/_0HPa2uNomog4

B. MgCO3; < BeCO3 < CaCO3 < SrCO3BaCOs4

C.CaCO;3 < SrC0O3 < BaCO3 < BeCO3 < MgCOs

D. BaCO3 > SrC0O5; > CaCO3 > MgCO3 < BeCOs3

Answer: A

° Watch Video Solution

76. Select incorrect statement about alkaline earth metals:

A. Solubility of sulphates decrease down the group

B. Solubility of hydroxides decrease down the group

C.Thermal stability of carbonates increase down the

group


https://dl.doubtnut.com/l/_0HPa2uNomog4
https://dl.doubtnut.com/l/_8AzqlxA2cehC

D. Basic nature increase down the group

Answer: B

° Watch Video Solution

77.In polymeric (BeCl,),,, there are:

A. Three centre four-electron bonds
B. Three centre three-electron bonds
C. two centre three-electron bonds

D. two centre two-electron bonds

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8AzqlxA2cehC
https://dl.doubtnut.com/l/_hxcYMRilbOAm

78. A metal is burnt in air and the ash on moistening smells

of ammonia. The metal is

A. Na

B. Fle

C. Mg

D. Al

Answer: C

° Watch Video Solution

79. Which is not obtained when metal carbides react with

H,0?


https://dl.doubtnut.com/l/_hxcYMRilbOAm
https://dl.doubtnut.com/l/_kYJ3kom6OLOQ
https://dl.doubtnut.com/l/_425YxLhGZK8t

B.CG,CQ + H20 — CH =CH

C. Mg403 + H,O — CHgC =CH

D. Bez(] + HgO — CH4

Answer: A

° Watch Video Solution

80. what is formula of hydrate form of MgCl, :-

° Watch Video Solution

81.11A (alkaline earth metals) and IIB (zinc family) resemble:


https://dl.doubtnut.com/l/_425YxLhGZK8t
https://dl.doubtnut.com/l/_JdjGOJd8K5kL
https://dl.doubtnut.com/l/_RUVdxGkAsTMV

A. MgSO, - TH,0 is isomorphous with ZnS0O, - TH,O

B.IIA and IIB cations are ont precipitated by H5S in

acidic medium

C. both (a) and (b)

D. None of the above

Answer: A

° Watch Video Solution

82. Write equations for complete process of prepration of

Na2 003 -

° Watch Video Solution



https://dl.doubtnut.com/l/_RUVdxGkAsTMV
https://dl.doubtnut.com/l/_VFAhGMB7yEtQ
https://dl.doubtnut.com/l/_i1sDsE8tvwEg

83. Calcium imide on hydrolysis will give gas (B) which on
oxidation by beaching powder gives gas (C) gas (C) on
reaction with magnesium give compound (D). (D) on
hydrolysis gives gas (B). (B), (C) and (D) are

A.NH3, N3, Mg3N,

B. Ny, NH;, MgNH

C. Ny, N2O5, Mg(NOs),

D. NH3, NOQ, Mg(NO3)2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_i1sDsE8tvwEg

84. A compound X on heating gives a colourless gas. This
residue is dissolved in water to obtain Y. excess CO, is
bubbled through aqueous solution of Y, Z is formed. Z on
gentle heating give back X. the Xis

A. C&CO?,

B.Ca(HCO;),

C. Na2 CO3

D. NGHCO3

Answer: A

° Watch Video Solution

85. Write equations for the prepration of Na HC'O3?


https://dl.doubtnut.com/l/_z0z4LUTdAaG7
https://dl.doubtnut.com/l/_ygNdl8Q6OLMb

° Watch Video Solution

86. The more commonly used baking powder contains

about
30 % NaHCOs3, 20 % NaK(SOy),, 10 % Ca(HyPOy),
and 40% starch. Which of the following statements is/are
correct?
A.Ca(HyPO,) is acidic and when moistened it reacts
with NaHCO, evolving CO, gas
B. NaAl(SO4), shows down the decomposition

reaction of NaHCQOj3 so that CO, is evolved more

slowly.


https://dl.doubtnut.com/l/_ygNdl8Q6OLMb
https://dl.doubtnut.com/l/_3P3Z0VhAsId7

C. NaAl(SO,), is acidic and when moistened it reacts
with NaHCOj5 evolving CO,

D. Both (a) and (b)

Answer: D

° Watch Video Solution

1. Dilute solutions of alkali metals in liquid NHj3 are blue. It

is the ammoniated electron which is responsible for the
blue colour of the solution, and the electrical conductivity
is due to the ammoniated cation, | M(NHj) | " as well as

the ammoniated electrons, [G(NHg)y:| _, values of x and y


https://dl.doubtnut.com/l/_3P3Z0VhAsId7
https://dl.doubtnut.com/l/_6opxUZwdTx0Z

depend on the extent of solvation (by NHj3). Dilute

solutions are paramagnetic due to free electrons.

What happens if alkali metals is allowed to react with

concentrated liquid ammonia?

A. Paramagnetic character of solvated electrons is

retained

B. Solvated electrons associate to form electron-pairs

and paramagnetic character decrease

C. Reducing character is increased

D. Reducing character is not affected

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6opxUZwdTx0Z
https://dl.doubtnut.com/l/_ZOvCyTQkea5N

2. All alkali metals dissolve in anhydrous liquid ammonia to
give blue colour solution. It is the ammoniated electron
which is reponsible for the blue colour of the solution, and
the electrical conductivity is due to the ammoniated cation,
[M(NH;),] " as well as the ammoniated electron,
{e(NH?,)y} , value of x and y depend on the extent of
solvation by NHjs. Dilute solutions are paramagnetic due
to free ammoniated electrons.

Q. Which of the following statement about solution of alkali

metals in liquid ammonia is correct?

A. The solution has strong oxidizing properties
B. Both the dil. Solution as well as conc. Solution are

equally paramagnetic in nature


https://dl.doubtnut.com/l/_ZOvCyTQkea5N

C. Charge transfer is responsible for the colour of the

solution

D. None of these

Answer: D

° Watch Video Solution

3. All alkali metals dissolve in anhydrous liquid ammonia to
give blue colour solution. It is the ammoniated electron
which is reponsible for the blue colour of the solution, and
the electrical conductivity is due to the ammoniated cation,
[M(NH;),] " as well as the ammoniated electron,

[e(NH;),)y} , value of x and y depend on the extent of

solvation by NHj. Dilute solutions are paramagnetic due


https://dl.doubtnut.com/l/_ZOvCyTQkea5N
https://dl.doubtnut.com/l/_2TGD7sqWecsJ

to free ammoniated electrons.

Q. Ammoniated solutions of alkali metals are reducing
agents due to the presence of free ammoniated or solvated
electrons that can reduce:

(002t00;~ (Il) K5 [Ni(CN),] to K4[Ni(CN),]

(1) Aromatic ring (IV) Non-terminal alkyne

Choose the correct code:

A.lll and IV

B. Il and Il

C.L,1, Il and IV

D.I, Il and IV
Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_2TGD7sqWecsJ

H,0 Co, S0, Nay,S/1, Agt/Sa<
4, Na— A— B— C > D >

I4

0

(complex)

Q. The compounds B and C is

A. NCLQCOg, NCLQSO4
B.NGHCO3, NCI,2SO4
C. NG2CO3, Na2503

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_dnzPtDrkMOTQ

H,0 CO, S0,

A— B—C

Na2S/I2
\
7

Agt /Sa<

(complex)

Q. The compound D is

A. NCLQSO4

B. Na,25406

C. Na2503

D. NGQSQOg

Answer: D

0

I4

° Watch Video Solution



https://dl.doubtnut.com/l/_PJAxySkn0LVe

HQO C02 SOQ Na2S/I2 Ag+ /Sa<
5 s C s D 3

6. Na A s B ;

I4

(complex)

Q. Oxidation number of each 'S' atom in compound D:

A +2, +2

B.+4,0

C.+6, —2

D.+5, — 1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ORfPO2SpwF46

Metwal + dil. HCOl - “1 _ 4
— 4 NH,OH - B (white ppt.)
HCl{g)| Heated
]
Electro in
Y retal (M)

¢ presence of NaCl

Q. The compound Aiis :

A. C&Clz : 2H2O

B. MgClg . 6H20

C. NCL2504 : ].OH20

D. C&SO4 . 2H2O

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_HgpGR7kBKGzv

Metal + dil. H Na HPO, i
a— A NH ,OF B (white ppt.)

HCl(g)| Heated

Electrolysis In |\ tecal (M)

¢ presence of NaCl

8.

Q. The compound B is :
A.Mg(NH,) PO,
B. CCL3(PO4)2 + NH3
C. Na(NH4)HPO4

D. Both (a) and (b)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_L9mmLFBCT3lG

Metal + dil. H NaHPO, i
a— A NH ,OF B (white ppt.)

HCl(g)| Heated

Electrolysis In |\ tecal (M)

¢ presence of NaCl

9.

Q. The compound C and metal M are:

A. NaCl, Na

B.CaCl,y, Ca

C. MgCl,y, Mg

D. BeCl,, Be

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aUF8PXW4F4uU

10. Calcium sulphate is found in nature in two forms,
anhydrous calcium sulphate and hydrated calcium sulphate.
When anhydrous calcium sulphate is heated with coke,
sulphur dioxide gas is obtained. When hydrated calcium
suphate is heated to 200° C, it forms anhydrous salt.
Q. The anhydrous calcium sulphate is called :

A. gypsum

B. anhydrite

C. plaster of paris

D.lime

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_6VOGGhkrqXlg

1. Mix calcium sulphate with conc. HCl and forms a paste.

Bring a pinch of this paste near to the flame, what colour

will you obtain?

A. golden yellow

B. brick red

C. crimson red

D. apple green

Answer: C

° Watch Video Solution

12. Calcium sulphate is found in nature in two forms,

anhydrous calcium sulphate and hydrated calcium sulphate.


https://dl.doubtnut.com/l/_Vwv8T3Bihi9G
https://dl.doubtnut.com/l/_NKuGlGVtC6a1

When anhydrous calcium sulphate is heated with coke,
sulphur dioxide gas is obtained. When hydrated calcium
suphate is heated to 200° C, it forms anhydrous salt.
Q. What is the product formed when hydrated CaSO;, is
heated to 125° C instead of 200° C?

A. (CG,SO4)2H20

3
B.CGSO41HQO
C. C’aSO4

D.CaO + SO3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_NKuGlGVtC6a1

13. Sodium sulphite (NaySO3) is added to meat as a
preservative. The presence of NaySO, can be detected by
adding dil. H,S0O4 when the pungent smelling gas evolved
turns the lime water milky. The gas evolved was detected as
sulphur dioxide. The SO, to SO; in titration.

SO, +2H,0 + I, - 4H' + SO>™ + 21~

In order to check the results of titration, excess barium
chloride is added to the final solution. The resulting
precipitate is collected and weighed.

Q. SOy and CO5 both lime water milky. Which of the
following reagent can be used to distinguish these two
gases?

(|)K20’I"207/HQSO4 (||)KM’I’LO4/H+ (|||)Iz solution

A. L 1L, Il correct


https://dl.doubtnut.com/l/_kOnYnstPnHkF

B. I. lll only correct

C. 1, I only correct

D. Il only correct

Answer: A

° View Text Solution

14. Sodium sulphite (NaySO3) is added to meat as a
preservative. The presence of NayS503 can be detected by
adding dil. H,504 when the pungent smelling gas evolved
turns the lime water milky. The gas evolved was detected as
sulphur dioxide. The SO, to SO in titration.

SO, +2H,0 + I, - 4H* + SO>~ + 21~

In order to check the results of titration, excess barium


https://dl.doubtnut.com/l/_kOnYnstPnHkF
https://dl.doubtnut.com/l/_jL8VC5sdAIoO

chloride is added to the final solution. The resulting
precipitate is collected and weighed.
Q. S0, gas is used as bleaching agent. Its bleaching action
IS :

A. temporary and due to its oxidizing nature

B. temporary and due to its reducing action

C. permanent and due to its oxidizing nature

D. permanent and due to its reducing action

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jL8VC5sdAIoO

15. Sodium sulphite (NaySO3) is added to meat as a
preservative. The presence of NaySO, can be detected by
adding dil. H,S0O,4 when the pungent smelling gas evolved
turns the lime water milky. The gas evolved was detected as
sulphur dioxide. The SO, to SO; in titration.

SO, +2H,0 + I, - 4H' + SO>™ + 21~

In order to check the results of titration, excess barium
chloride is added to the final solution. The resulting
precipitate is collected and weighed.

Q. Which of the following compounds is formed, when

Nay 503 is boiled with sulphur.

A. N&QSO4
B. NCLQS405

C. Na25406


https://dl.doubtnut.com/l/_7lRazHkXJ14l

D. Na25403

Answer: D

° Watch Video Solution

16. On treatment with cold wate, element (A) reacted
quietly, librating colourless gas (B) and solution ( C).
Lithium reacted with gas (B) and giving a solid product (D)
which gave effervesence with water to give basic solution
(F). When CO5 was passed thorough solution ( C), an initial
whit ppt (E) was formed but this redissolved forming
solution (G) when more CQO; was passed. PPT (E)

effervessced when moistened to Bunsen flame. (E ) on


https://dl.doubtnut.com/l/_7lRazHkXJ14l
https://dl.doubtnut.com/l/_WSgHgFg5PhxI

heating wiht excess of carbon at 2000° C gave (H):

Metal A may be:

A. Be

B.Ca

C. Mg

D. Ba

Answer: B

° Watch Video Solution

17. On treatment with cold water, an element (A) reacts
readily liberating a colourless, odourless gas (B) and a

solution (C). Lithium is reacted with (B) yeildng a solid


https://dl.doubtnut.com/l/_WSgHgFg5PhxI
https://dl.doubtnut.com/l/_gVoz6Ba8tAoE

product (D) which effervesce with water to give a strongely
basic solution (E). When CO, gas is bubbled through
solution (C), a white ppt. (F) is formed but this redissolved
forming solution (G) when more C'O, is passed. Precipitate
(F) effervesced when moistened with conc. HCl and give
deep red colouration to Bunsen burner flame. (F) on
heating with excess of carbon at 2000° C give (H).

Answer the following question on the basis of above
passage.

Q. Solution (G) contains a salt which

(i) causes permanent hardness of water

(ii)can not be obtained in solid state

(iii)causes temporary hardness of water

(iv)can be obtained in solid state

Select the correct statements :


https://dl.doubtnut.com/l/_gVoz6Ba8tAoE

A. (i) and (ii)

B. (i) and (iv)

C. (ii) and (iii)

D. (ii) and (iv)

Answer: C

° Watch Video Solution

18. On treatment with cold water, an element (A) reacts
readily liberating a colourless, odourless gas (B) and a
solution (C). Lithium is reacted with (B) yeildng a solid
product (D) which effervesce with water to give a strongely
basic solution (E). When CQO, gas is bubbled through

solution (C), a white ppt. (F) is formed but this redissolved


https://dl.doubtnut.com/l/_gVoz6Ba8tAoE
https://dl.doubtnut.com/l/_zvKDNhleP2IH

forming solution (G) when more CO, is passed. Precipitate
(F) effervesced when moistened with conc. HCl and give
deep red colouration to Bunsen burner flame. (F) on
heating with excess of carbon at 2000° C give (H).

Answer the following question on the basis of above
passage.

Q. Solid (H) on hydrolysis gives a gas which on passing

through ammoniated AgINOj5 solution yields:

A. white ppt.
B. red ppt.
C. no ppt.

D. brown ppt.

Answer: A

| ° \icwr Tavk CAliikiAan



https://dl.doubtnut.com/l/_zvKDNhleP2IH

| ¢ AN VY T CAS SN IdCINg ] J

19. Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e.,, MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides
the role in formation of superoxide. All the three anions
abstract proton from water. The three anions are raleted to

each other as follows:

1
_02 0
_ 2 _ 2 _
0;" — 05 — 20,
peroxide ion superoxide ion
oxide ion

Q. Consider the following reaction :
M + 02 — M02

(M=alkali metal) (stable superoxide)


https://dl.doubtnut.com/l/_zvKDNhleP2IH
https://dl.doubtnut.com/l/_NHokNoN3jYjR

A. M can not be Li and Na

B. M can not be Cs and Rb

C. M can not be Li and Rb

D. None of these

Answer: A

° Watch Video Solution

20. Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e, MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides

the role in formation of superoxide. All the three anions


https://dl.doubtnut.com/l/_NHokNoN3jYjR
https://dl.doubtnut.com/l/_BpaGEFZUqDHM

abstract proton from water. The three anions are raleted to

each other as follows:

%OZ )

0>~ 1 0 5 20,
peroxide ion superoxide ion
oxide ion

Q. Which anion is stable towards water:

A O?~
B.O3~
C.O;

D. None of these

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_BpaGEFZUqDHM

21. Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e, MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides
the role in formation of superoxide. All the three anions
abstract proton from water. The three anions are raleted to

each other as follows:

1
_02 1)
_ 2 _ 2 _
O; — 057 — 20,
peroxide ion superoxide ion
oxide ion

Q. Which compounds will liberate oxygen when reacts with

ice cold water?

A. NCL202

B. KO,


https://dl.doubtnut.com/l/_pfgiQHzpCPMI

C. NGQO

D. 08202

Answer: B

° Watch Video Solution

22. Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e.,, MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides
the role in formation of superoxide. All the three anions
abstract proton from water. The three anions are raleted to

each other as follows:


https://dl.doubtnut.com/l/_pfgiQHzpCPMI
https://dl.doubtnut.com/l/_M7Hpm0zTQnKS

1
Lo, 0
_ 2 _ 2 _
0*~ — 057 — 20,
peroxide ion superoxide ion
oxide ion

Q. In hydrolysis, the alkali metals oxides, peroxide and
superoxide act as:

A. Bronsted acid

B. Bronsted base

C. Lewis acid

D. Lewis base

Answer: B

° Watch Video Solution

23. Most metal oxide are thermally stable at temperature

upto 1000° C' but the oxide of metals below hydrogen in


https://dl.doubtnut.com/l/_M7Hpm0zTQnKS
https://dl.doubtnut.com/l/_05kMcuP8nRBT

the electrochemical series fairly. Thus HgO and Ag,O
decomposes on heating.
Q. Which of the following salt salt does not give NO, gas
on heating?

A. Pb(NOs),

B. Zn(N03)2

C. AgN03

D. KNOj;

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_05kMcuP8nRBT

24. Most metal oxide are thermally stable at temperature
upto 1000° C' but the oxide of metals below hydrogen in
the electrochemical series fairly. Thus HgO and Ag,O
decomposes on heating.
Q. Which of the following compound cannot be thermally
decomposed even at high temperature?

A.CsHCOs;

B. Rby,CO3

C. Li,CO4

D.(NH,),CO;

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9VbfSdNjgdEJ

25. Most metal oxide are thermally stable at temperature
upto 1000° C' but the oxide of metals below hydrogen in
the electrochemical series fairly. Thus HgO and Ag,O
decomposes on heating.
Q. Correct code for following thermal decomposition
reaction(s) evolving gas having equal number of
o — and ™ — bonds is :
8

() BeCO3 — (ii)ZnSO, —
4 <800°C

300°C )
(iii)FeSO4 — (iV)(NH3)2C’I“2O7 —
A, i
B. i, iii, iv
C. i, i, iii

D. All of these


https://dl.doubtnut.com/l/_dJfWNGx0JLB1

Answer: C

° Watch Video Solution

26. Describe reaction of alkaline earth metals with acids.

° Watch Video Solution

27. All alkali metals dissolve in anhydrous liquid ammonia to
give blue colour solution. It is the ammoniated electron
which is reponsible for the blue colour of the solution, and
the electrical conductivity is due to the ammoniated cation,
[M(NH,),] ™ as well as the ammoniated electron,

[e(NH?,)y} , value of x and y depend on the extent of

solvation by NHj. Dilute solutions are paramagnetic due


https://dl.doubtnut.com/l/_dJfWNGx0JLB1
https://dl.doubtnut.com/l/_WLUUtHVruHVk
https://dl.doubtnut.com/l/_YWj3BdjmwPoU

to free ammoniated electrons.
Q. Which of the following statement about solution of alkali
metals in liquid ammonia is correct?
A. The solution have strong oxidizing properties
B. Both the dil. Solution as well as conc. Solution are
equally paramagnetic in nature
C. Charge transfer is responsible for the colour of the
solution

D. None of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_YWj3BdjmwPoU

28. How alkaline earth metal dissolve in liquid ammonia ?

° Watch Video Solution

H,0 CO, SO, NayS/I,
29. Na 5 5 >

A 5 s C s D

Agt /Sa<

0

(complex)

Q. The compounds B and C is

A. Na2C03, NG,QSO4

B. NCLHCO3, NCLQSO4

C. NG2CO3, Na,2503

D. None of these

Answer: C

4



https://dl.doubtnut.com/l/_9XbsEpwZBX1h
https://dl.doubtnut.com/l/_1PD1fcRCN4uA

| ¥ Vvatch Video Solution

HQO 002 SOQ Na2S/I2
\ \ \

30. Na A ; s C

Agt /Sa<
\

0

(complex)

Q. The compound D is

A. NGQSO4

B. Na25'406

C. Na2 5203

D. NCL2 5203

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_1PD1fcRCN4uA
https://dl.doubtnut.com/l/_JhMoe9MDrKU2

HQO C02 SOQ Na2S/I2 Ag+ /Sa<
5 s C s D 3

31. Na A s B ;

I

(complex)

Q. Oxidation number of each 'S' atom in compound D:

A +2, +2

B.+4,0

C.+6, —2

D.+5, — 1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5ycHObYUVNVI

Metwal + dil. HCOl - “1 _ 4
— 4 NH,OH - B (whute ppt.)
HCl{g)| Heated
]
Electro in
Y tetal (M)

¢ presence of NaCl

32.

Q. The compound Ais :

A. C&Clz : 2H2O

B. MgClg . 6H20

C. NCL2504 : ].OH20

D.CaS0Oy - 2H,0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VRBjh9sHUcgI

Metal + dil. H Na HPO, i
a—s A NH OH B (white ppt.)

HCl(g)| Heated

Electrolysis Ity tetal (M)

¢ presence of NaCl

33.

Q. The compound B is :
A.Mg(NH,) PO,
B. CCL3(PO4)2 + NH3
C. Na(NH4)HPO4

D. Both (a) and (b)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4LOOQdQljVfS

Metwal + dil. HQl N NaHPO, , i
A NH OH B (white ppt.)

HCl(g)| Heated

isin_ Metal (M)

¢ presence of NaCl

34.

Q. The compound C and metal M are:

° Watch Video Solution

35. Calcium sulphate is found in nature in two forms,
anhydrous calcium sulphate and hydrated calcium sulphate.
When anhydrous calcium sulphate is heated with coke,
sulphur dioxide gas is obtained. When hydrated calcium
suphate is heated to 200° C, it forms anhydrous salt.

Q. The anhydrous calcium sulphate is called :

A. gypsum


https://dl.doubtnut.com/l/_yX4L3bX9Gubr
https://dl.doubtnut.com/l/_26X0Dukr5zAT

B. anhydrite

C. plaster of paris

D. lime

Answer: B

° Watch Video Solution

36. How alkali earth metal dissolve in liquid ammonia ?

° Watch Video Solution

37. Calcium sulphate is found in nature in two forms,
anhydrous calcium sulphate and hydrated calcium sulphate.

When anhydrous calcium sulphate is heated with coke,


https://dl.doubtnut.com/l/_26X0Dukr5zAT
https://dl.doubtnut.com/l/_LKKZvzUJNsf1
https://dl.doubtnut.com/l/_X9bTetbnjt0u

sulphur dioxide gas is obtained. When hydrated calcium
suphate is heated to 200° C, it forms anhydrous salt.
Q. What is the product formed when hydrated CaSO;, is
heated to 125° C instead of 200° C?

A. (CCLSO4)2H20

3
B. CCLSO42H20
C.CaS0O,

D. CaO + SO3

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_X9bTetbnjt0u

38. which is most electropositive element in periodic table

that is not radioactive :-

A. Francium

B. Cesium

C.Barium

D. None of these

Answer: B

° Watch Video Solution

39. By which process,Sodium Hydroxide is manufactured ?

° Watch Video Solution



https://dl.doubtnut.com/l/_L1U2AG3NesEQ
https://dl.doubtnut.com/l/_3wIbhVkoKrpF

40. What colour did we observe when Lithium bring near

flame ?

A. Red

B. Crimson red

C. yellow

D. Violet

Answer: B

o Watch Video Solution

41. List two similarity between beryllium and aluminium.

° Watch Video Solution



https://dl.doubtnut.com/l/_3wIbhVkoKrpF
https://dl.doubtnut.com/l/_naQEgQdAV1HR
https://dl.doubtnut.com/l/_knL1btsCxaZK

42. On treatment with cold water, an element (A) reacts
readily liberating a colourless, odourless gas (B) and a
solution (C). Lithium is reacted with (B) yeildng a solid
product (D) which effervesce with water to give a strongely
basic solution (E). When CO, gas is bubbled through
solution (C), a white ppt. (F) is formed but this redissolved
forming solution (G) when more CO, is passed. Precipitate
(F) effervesced when moistened with conc. HClI and give
deep red colouration to Bunsen burner flame. (F) on
heating with excess of carbon at 2000° C give (H).

Answer the following question on the basis of above
passage.

Q. Solution (G) contains a salt which

(i) causes permanent hardness of water


https://dl.doubtnut.com/l/_knL1btsCxaZK
https://dl.doubtnut.com/l/_FeSPRKYwQSnY

(ii)can not be obtained in solid state

(iii)causes temporary hardness of water

(iv)can be obtained in solid state

Select the correct statements :

A. (i) and (ii)

B. (i) and (iv)

C. (ii) and (iii)

D. (ii) and (iv)

Answer: C

° Watch Video Solution

43. List two similarity between Lithium and Magnesium.

| o


https://dl.doubtnut.com/l/_FeSPRKYwQSnY
https://dl.doubtnut.com/l/_ES5pb7s3NHLx

| & Watch Video Solution

44, Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e., MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides
the role in formation of superoxide. All the three anions
abstract proton from water. The three anions are raleted to

each other as follows:

1
_02 0
2 _ 2 B
05" — 037 — 20,
peroxide ion superoxide ion
oxide ion

Q. Consider the following reaction :
M + 02 — M02

(M=alkali metal) (stable superoxide)


https://dl.doubtnut.com/l/_ES5pb7s3NHLx
https://dl.doubtnut.com/l/_c9XmBnwW6LQ2

A. M can not be Li and Na

B. M can not be Cs and Rb

C. M can not be Li and Rb

D. None of these

Answer: A

° Watch Video Solution

45. What happens when BeCl, reacted with LiAlH, :-

° Watch Video Solution

46. Thermal decomposition of (NH,),BeF} gives :-

| o


https://dl.doubtnut.com/l/_c9XmBnwW6LQ2
https://dl.doubtnut.com/l/_m8smbNP2xArJ
https://dl.doubtnut.com/l/_saMhZyyMuHE9

| & Watch Video Solution

47. Lithium only forms monoxide when heated in oxygen.
Sodium forms monoxide and peroxide in excess of oxygen.
Other alkali metals form superoxide metals superoxide with
oxygen i.e., MO,. The abnormal behaviour of lithium is due
to small size. The larger size of higher metals also decides
the role in formation of superoxide. All the three anions
abstract proton from water. The three anions are raleted to

each other as follows:

1
_02 0
_ 2 _ 2 _
0~ — 057 — 20,
peroxide ion superoxide ion
oxide ion

Q. In hydrolysis, the alkali metals oxides, peroxide and

superoxide act as:

A. Bronsted acid


https://dl.doubtnut.com/l/_saMhZyyMuHE9
https://dl.doubtnut.com/l/_I7GQOQ9FYEZ4

B. Bronsted base

C. Lewis acid

D. Lewis base

Answer: B

° Watch Video Solution

48. Which alkaline earth metal is used in treatment of

cancer :-

A. Barium

B. Strontium

C.Radium

D. Calcium


https://dl.doubtnut.com/l/_I7GQOQ9FYEZ4
https://dl.doubtnut.com/l/_Cd9xDofih0oL

Answer: C

° Watch Video Solution

49. Most metal oxide are thermally stable at temperature
upto 1000° C' but the oxide of metals below hydrogen in
the electrochemical series fairly. Thus HgO and Ag,O
decomposes on heating.

Q. Which of the following compound cannot be thermally

decomposed even at high temperature?

A. CSHCO3
B. RbyCOs3
C. Li,CO4

D.(NH,),COs


https://dl.doubtnut.com/l/_Cd9xDofih0oL
https://dl.doubtnut.com/l/_KvFJRy9Dq14I

Answer: B

° Watch Video Solution

50. Most metal oxide are thermally stable at temperature
upto 1000° C' but the oxide of metals below hydrogen in
the electrochemical series fairly. Thus HgO and Ag,O
decomposes on heating.

Q. Correct code for following thermal decomposition
reaction(s) evolving gas having equal number of
o — and m — bonds is:

(i) BeCO4 —6> (i) ZnS0Oy —6>
v <800°C

300°C 1)
(ii)FeSOs — (iv)(NHy),CraO7 —>

A iyl


https://dl.doubtnut.com/l/_KvFJRy9Dq14I
https://dl.doubtnut.com/l/_msRfPsHmZesV

B. i, iii, iv

C.i, ii,iiiand IV

D. All of these

Answer: C

o Watch Video Solution

One Or More Answer Is Are Correct

1. The correct statement(s) is /are

A.Thermal stability of alkaline earth metal chloride

decrease with increasing molecular mass but reverse

order is true for their melting point.


https://dl.doubtnut.com/l/_msRfPsHmZesV
https://dl.doubtnut.com/l/_tP4unUjhUoeb

B. Thermal stability of boron halides increase with

decreasing molecular mass but reverse order is true

for their melting point

C.Thermal stability of beryllium halides increase with

decreasing molecular mass and same order is also

true for their melting point

D. Thermal stability of hydra acids of halogens increase

with decreasing molecular mass and same order is

also true for their melting point

Answer: B::C

° View Text Solution



https://dl.doubtnut.com/l/_tP4unUjhUoeb
https://dl.doubtnut.com/l/_irtFrZhaf1LZ

2. Which of the following metal(s) in liquid NH3 with low

conc. Is not paramagnetic?

A.Cs

B. Be

C.K

D. Mg

Answer: B::D

° View Text Solution

3. Which of the following substance can be used directly as

feriliaer?

A.(NH,),S0,


https://dl.doubtnut.com/l/_irtFrZhaf1LZ
https://dl.doubtnut.com/l/_hYn4RKdwIs8d

B. C(I3(PO4)2
C. C&(H2P04)2

D.CaCNy + C

Answer: A::B::D

° Watch Video Solution

4. Which of the following will release CO, when heated to

1000° C?

A.KHCO;

B. LinCOs5

C. K,CO4

D. PbCO4


https://dl.doubtnut.com/l/_hYn4RKdwIs8d
https://dl.doubtnut.com/l/_jgrvJncVNTY5

Answer: A::C::D

° Watch Video Solution

5. Which of the following properties show a similar trends

on moving from Li to C's within the group

A. lonic mobility in aqueous solution

B. Reactivity towards water

C. Solubility of bromide salt

D. Thermal stability of carbonate salt

Answer: A::B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_jgrvJncVNTY5
https://dl.doubtnut.com/l/_Mu3Hl4ZixAwo

6. The alkali metals

A. form salt like ionic hybrides

B. posses low ionisation potential

C. have high affinity for non-metals

D. have low density

Answer: A::B::C::D

o Watch Video Solution

7. NaNQOj on heating gives

A. O,

B. NO,


https://dl.doubtnut.com/l/_FlesPPHFBlGy
https://dl.doubtnut.com/l/_YAI16qWPFCiA

C.O5 + NO,

D. NaN02

Answer: A::D

o Watch Video Solution

8. Which of the following statement is/are true?

A. All alkali metals are soft and can be cut with knife

B. Alkali metals do not occur in free state in nature

C. Alkali metals are highly electropositive elements

D. Alkali metal hybrides are covalent in character

Answer: A::B::C



https://dl.doubtnut.com/l/_YAI16qWPFCiA
https://dl.doubtnut.com/l/_Ug4DqV8sXoGB

| ° Watch Video Solution

9. Nitrogen dioxide cannot be obtained by heating:

A.KNO;
B. LiNOj
C. Pb(NO;),

D. NCLNOg

Answer: A::D

o Watch Video Solution

10. Select the incorrect statement(s):


https://dl.doubtnut.com/l/_Ug4DqV8sXoGB
https://dl.doubtnut.com/l/_RSRH8dmdtV8O
https://dl.doubtnut.com/l/_rqCq3TgpCspL

A.Cs™ is more hydrated than the other alkali metal
ions

B. Among the alkali metals Li, Na, K and Rb, lithium has
the highest melting point

C. lonic mobility of Li * is maximum among alkali metal
cations

D. lonisation potential of Lz is lower than that of Na

Answer: A::C::D

° Watch Video Solution

11. Select the correct statement(s):


https://dl.doubtnut.com/l/_rqCq3TgpCspL
https://dl.doubtnut.com/l/_HN75TrRSYGy8

A.Sodium can be prepared by electrolysis aqueous

solution of NacCl

B. Sodium can be prepared by electrolysing fused Nacl

C.Sodium is a strong agent

D. Sodium is soluble in liquid ammonia

Answer: B::D

° Watch Video Solution

12. Identify the correct statement(s):

A. Sodium carbonate on heating evolves carbon dioxide

B. Sodium nitrate on heating evolves nitrogen dioxide


https://dl.doubtnut.com/l/_HN75TrRSYGy8
https://dl.doubtnut.com/l/_O3ekWTyvNBwd

C. Sodium hydroxide does not decompose on heating

D. Sodium bicarbonate on heating evolve carbon dioxide

Answer: C::D

° Watch Video Solution

13. Which statements are false?

A. Manufacture of NaOH is done by Solvay process

B. Manufacture of K5C'Oj3 is done by Solvay process

C. Manufacture of NaOH is done by Castner Keliner

process

D. Manufacture of NaHCOj is done by Solvay process


https://dl.doubtnut.com/l/_O3ekWTyvNBwd
https://dl.doubtnut.com/l/_eyUL7IKVQpOk

Answer: A::B

o Watch Video Solution

1
14. Sulphate salt metal oxide and SO?,( or SO,y + §O2>

on heating:

A. K,50,
B.CaSOy,
C. MgSO4

D. (NHy),S0,

Answer: B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_eyUL7IKVQpOk
https://dl.doubtnut.com/l/_5jVGRxIsAXwF

15. The correct statement about sodium and its compounds

would include that:

A. Sodium forms an ionic hydride NaH

B. Sodiujm nitrate decomposes to the nitrite on heating

C.Sodium is hard metal

D. Sodium carbonate decomposes readily on heating

Answer: A::B

° Watch Video Solution

16. NaH reacts with water to give:

A. alkaline solution


https://dl.doubtnut.com/l/_2zaz4cIfGrgQ
https://dl.doubtnut.com/l/_eWsygbzN5fWs

B. acidic solution

C. neutral solution

D. hydrogen gas

Answer: A::D

° Watch Video Solution

17. Which of the following statement(s) is/are incorrect?

A. Magnesium may by extracted by self reduction

method

B. Down's Cell process is used to extract magnesium

from sea water


https://dl.doubtnut.com/l/_eWsygbzN5fWs
https://dl.doubtnut.com/l/_KTecgYvhJGbJ

C. Magnalium is an alloy of magnesium

D. Formula of Epsom salt is MgSO, - 6H,0O

Answer: A::B::D

° Watch Video Solution

18. Identify the incorrect statement(s):

A. Density of Mg is less than Ca

B. The atomic radius of Mg is greater than that of Ca

C. Mg alloys are used in the contruction of air crafts

D. Mg is used as a reducing agent

Answer: A::B



https://dl.doubtnut.com/l/_KTecgYvhJGbJ
https://dl.doubtnut.com/l/_4Rr8Byzjc5Du

| ° Watch Video Solution

19. Which of the following properties of the elements of

group Il (alkali earth metals) increase (s) with increasing

atomic number?

A. Stability of carbonate

B. Solubility of hydroxide

C. Reactively with water

D. First ionization energy

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_4Rr8Byzjc5Du
https://dl.doubtnut.com/l/_qjCocG5snTPG
https://dl.doubtnut.com/l/_Lk5rmyUlYQKg

20. Select the wrong statement(s):

A. CaFy is soluble in water
B. BaSO, is soluble in water
C. Be(OH), is soluble in water

D. MgSQO, is soluble in water

Answer: A::B

° Watch Video Solution

21. Which of the following statements about the elements,

Mg, Ca, Sr and Ba and their compounds is true?


https://dl.doubtnut.com/l/_Lk5rmyUlYQKg
https://dl.doubtnut.com/l/_3lg87nq4L9NX

A. Solubility of the hydroxides in water increase with
increasing atomic number

B. Thermal stability of the carbonates increase with
increasing atomic number

C. All given elements react with water or steam to give
hydrogen

D. Metal chloride are all ligiuds at room temperature

Answer: A::B::C

° Watch Video Solution

22. Which of the following does/do not impart

characteristic colour to the flame?


https://dl.doubtnut.com/l/_3lg87nq4L9NX
https://dl.doubtnut.com/l/_X8HW1QeqTwVg

A. MgSO4
B. C&Clz
C. ST(NO3)2

D. BGClz

Answer: A::D

o Watch Video Solution

23. Which statements is correct regarding the diagonal

relationship between the Al and Be?

A. BeO and Al;O5 are amphoteric in nature

B. Both carbide on hydrolysis produce same gas

C. Both can form complex


https://dl.doubtnut.com/l/_X8HW1QeqTwVg
https://dl.doubtnut.com/l/_l7PYMbf9WQIi

D. Both have nearly close m.p.

Answer: A::B::C

° Watch Video Solution

24. Which of the following metals on treatement with alkali

will liberate H, gas?

A. Be

B.Sn

C.Ga

D.In

Answer: A::B::C

| o |


https://dl.doubtnut.com/l/_l7PYMbf9WQIi
https://dl.doubtnut.com/l/_qU8o2dyCc0Ue

| & Watch Video Solution ]

25. Choose the correct statement(s):

A. BeCOgs is kept in the atmosphere of CO, since, it is
least thermally stable

B. Be dissolves in alkali forming [Be(OH)4]2_

C. BeF, forms complex ion with NaF in which Be goes
with cation

D. BeF, forms complex ion with NaF in which Be goes

with anion

Answer: A::B::D

° View Text Solution



https://dl.doubtnut.com/l/_qU8o2dyCc0Ue
https://dl.doubtnut.com/l/_wWTOwlU9lePo

26. Select the incorrect statement(s):

A. Magnesium can be burnt in the atmosphere of

002 and 502

B. Magnesium reacts with alkyl halides to form

Grignard's reagent

C.Out of Mg and Ca, only Mg reacts with N, to form

magnesium nitride

D. Calcium is less reactive than magnesium

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_wWTOwlU9lePo
https://dl.doubtnut.com/l/_WSzLgwQZ5NlN
https://dl.doubtnut.com/l/_vdSXTmCkJqfU

27. Which of the following statement(s) is/are incorrect?

A. Sodium bicarbonate is more soluble than sodium

carbonate

B. Sodium hydroxide is known as caustic soda

C. Sodium bicarbonate is used as antacid

D. Sodium nitrate is used in the manufacture of soaps

Answer: D

° Watch Video Solution

28. Select the incorrect statement(s):

A. KOH is a weaker than NaOH


https://dl.doubtnut.com/l/_vdSXTmCkJqfU
https://dl.doubtnut.com/l/_ODcshR96eI8U

B. Milk of magnesia is an aqueous solution of
Mg(OH),

C.Mg*" ions are precipitated with the addition of
NH3;OH in the presence of NH,Cl

D. CaQ, is less stable than MgO,

Answer: A::C::D

° Watch Video Solution

29. Which of the following statements regarding the oxides

of alkali and alkaline earth metals is correct?

A.The reactivity of K;0 towards water is more than

that of Na,O


https://dl.doubtnut.com/l/_ODcshR96eI8U
https://dl.doubtnut.com/l/_WQjnFkCSRQ4s

B. The oxides of alkaline earth metals are more basic

than those of alkali metals

C.MgO is used as a refractory material for lining of

electric furnaces

D. The milk of lime and lime water are two different

solutions

Answer: A::C::D

° Watch Video Solution

30. The pair of compounds which can exist together in

aqueous solution is

A.Na;CO3 and NaHCO;


https://dl.doubtnut.com/l/_WQjnFkCSRQ4s
https://dl.doubtnut.com/l/_wvn4D98QIi1o

B. NaHCO3 and NaOH

C. NaOH and NaH;PO,

D. NaOH + NaH POs

Answer: B::C

° Watch Video Solution

31. Which of the following are soluble in water?

A. Na,20'03
B. Ba0204

D. CCL(NOg)z


https://dl.doubtnut.com/l/_wvn4D98QIi1o
https://dl.doubtnut.com/l/_7CcWq2xAZCsZ

Answer: A::D

o View Text Solution

32. Which of the following salts exis (s) as decahydrated

crystals?

A. Washing soda

B. Glauber's salt

C. Epson salt

D. Grypsum salt

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_7CcWq2xAZCsZ
https://dl.doubtnut.com/l/_DGdtOOVw5WS9

33. Which of statements are true?

A.NaHCO3 and KHCQOj3 have same crystal structure

B. On heating Li NO3 decomposes into LisOanCO,

C. Among alkali metals, Li metal impart red colour flame

D. L1550, does not form alum

Answer: B::D

° View Text Solution

34. Which hydrocarbon is formed when aluminium carbide

is reacted with water and dilute HCI?

A. CCLCQ


https://dl.doubtnut.com/l/_yTuXK603FxqM
https://dl.doubtnut.com/l/_kd22tJlVgX4F

B. Al,Cs

C. Mg203

D. BCQC

Answer: B::D

° Watch Video Solution

35. What happen when CaO reacts with P,O1g :-

° Watch Video Solution

36. Magnesium Hydroxide is also known as :-

A. Milk of lime


https://dl.doubtnut.com/l/_kd22tJlVgX4F
https://dl.doubtnut.com/l/_nbcCyEespDNB
https://dl.doubtnut.com/l/_cQbh2UcB2rby

B. Milk water

C. milk of magnesia

D. none of these

Answer: C

° Watch Video Solution

37. Which of the following metal(s) in liquid NHj3 with low

conc. Is not paramagnetic?

A.Cs

B. Be

C.K

D. Mg


https://dl.doubtnut.com/l/_cQbh2UcB2rby
https://dl.doubtnut.com/l/_i0Vr4e3CPuWB

Answer: B::D

o Watch Video Solution

38. Which of the following substance can be used directly
as fertilizer?

A (NH,),S50,

B. C’a3(PO4)2

C. C(Z(H2PO4)2

D. CG,CNQ +C

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_i0Vr4e3CPuWB
https://dl.doubtnut.com/l/_InRKFUWRcO7Z

39. Which of the following will release CO, when heated to

1000° C?

A . KHCO;

B. Li,CO3

C. K;,CO4

D. PbCO4

Answer: A::C::D

o Watch Video Solution

40. Which of the following properties show a similar trends

on moving from Li to C's within the group


https://dl.doubtnut.com/l/_cDqceYYLCC0T
https://dl.doubtnut.com/l/_tIp7FfMx60MP

A. lonic mobility in aqueous solution

B. Reactivity towards water

C. Solubility of bromide salt

D. Thermal stability of carbonate salt

Answer: A::B::D

° Watch Video Solution

41. The alkali metals:

A. form salt like ionic hybrides

B. posses low ionisation potential

C. have high affinity for non-metals


https://dl.doubtnut.com/l/_tIp7FfMx60MP
https://dl.doubtnut.com/l/_f59zHB4tIbT1

D. have low density

Answer: A::B::C::D

o Watch Video Solution

42.0n heating NaNQOj gives:

A. O,

B. NO,

C.O2 + NOy

D. NaN02

Answer: A::D

° Watch Video Solution



https://dl.doubtnut.com/l/_f59zHB4tIbT1
https://dl.doubtnut.com/l/_gNws7pWY1gbU

43. Calcium Hydroxide is also known as ?

A. Milk of lime

B. Milk of magnesia

C. Milk Water

D. none

Answer: A

° Watch Video Solution

44.Nitrogen dioxide cannot be obtained by heating:

A KNO;


https://dl.doubtnut.com/l/_gNws7pWY1gbU
https://dl.doubtnut.com/l/_zZgVQruQ3bRo
https://dl.doubtnut.com/l/_1I8xp7W70dmV

B. LiNO;
C. Pb(NO;),

D. NCLNO3

Answer: A::D

° Watch Video Solution

45. Above which temperature, hydrous calcium sulphate is

converted into dead burnt plaster :-

A 313K

B.373 K

C. 413K

D.393K


https://dl.doubtnut.com/l/_1I8xp7W70dmV
https://dl.doubtnut.com/l/_6Ij3RAkcncq8

Answer: D

o Watch Video Solution

46. What are the main ingredients of Portland cement :-

° Watch Video Solution

47. For a good quality cement,the ratio of silica (Si0,) to

alumina (Al,03) is between :-

A 15-25

B.25-4.0

C.3.0-45


https://dl.doubtnut.com/l/_6Ij3RAkcncq8
https://dl.doubtnut.com/l/_rxSRwJUDTA4g
https://dl.doubtnut.com/l/_5wnO8mWzvNhe

D.2.0-35

Answer: B

o Watch Video Solution

48. Which oxide is amphoteric in nature?

A.BaO

B. CaO

C.BeO

D. MgO

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5wnO8mWzvNhe
https://dl.doubtnut.com/l/_Bg1H3Arz2hB9

1
49, Sulphate salt metal oxide and 803( or SO,y + 502)

on heating:

A. K,50,
B. CGSO4
C. MgSO4

D. (NH,),S0,

Answer: B::C

° Watch Video Solution

50. The correct statement about sodium and its

compounds would include that:


https://dl.doubtnut.com/l/_Bg1H3Arz2hB9
https://dl.doubtnut.com/l/_6YLgKCTD6X40
https://dl.doubtnut.com/l/_yApz0hnQ1xLi

A. Sodium forms an ionic hybride NaH

B. Sodiujm nitrate decomposes to the nitrate on

heating

C.Sodium is hard metal

D. Sodium carbonate decomposes readily on heating

Answer: A::B

° Watch Video Solution

51. NaH reacts with water to give:

A. alkaline solution

B. acidic solution


https://dl.doubtnut.com/l/_yApz0hnQ1xLi
https://dl.doubtnut.com/l/_v0uipFr4ODD3

C. neutral solution

D. hydrogen gas

Answer: A::D

o Watch Video Solution

52. The chemical formula of Blue John ?

A. CCLH2
B. CG,Fg
C. C&g(PO4)3

D. CaO

Answer: A::B::D

f


https://dl.doubtnut.com/l/_v0uipFr4ODD3
https://dl.doubtnut.com/l/_93YKpmL3j6At

| ° Watch Video Solution

53.Identify the incorrect statement(s):

A. Density of Mg is less than Ca

B. The atomic radius of Mg is greater than that of Ca

C. Mg alloys are used in the contruction of air crafts

D. Mg is used as a reducing agent

Answer: A::B

o View Text Solution

54. Which of the following properties of the elements of

group Il (alkali earth metals) increase (s) with increasing


https://dl.doubtnut.com/l/_93YKpmL3j6At
https://dl.doubtnut.com/l/_LRHKTbZWoybA
https://dl.doubtnut.com/l/_stsSOVJmOsnD

atomic number?

A. Stability of carbonate

B. Solubility of hydroxide

C. Reactively with water

D. First ionization energy

Answer: A::B::C

° View Text Solution

55. Select the wrong statement(s):

A. CaFy is soluble in water

B. BaS0, is soluble in water


https://dl.doubtnut.com/l/_stsSOVJmOsnD
https://dl.doubtnut.com/l/_aoBrp3aqIvTB

C. Be(OH), is soluble in water

D. MgSQ, is soluble in water

Answer: A::B

° View Text Solution

56. Which of the following statements about the elements,

Mg, Ca, Sr and Ba and their compounds is true?

A. Solubility of the hydroxides in water increase with

increasing atomic number

B. Thermal stability of the carbonates increase with

increasing atomic number


https://dl.doubtnut.com/l/_aoBrp3aqIvTB
https://dl.doubtnut.com/l/_3xx74GP2KLwP

C. All given elements react with water or steam to give

hydrogen

D. Metal chloride are all ligiuds at room temperature

Answer: A::B::C

° Watch Video Solution

57. Which of the following does/do not impart
characteristic colour to the flame?

A.MgSO4

B. CaCl,

C.ST(NO3)2

D. BGClz


https://dl.doubtnut.com/l/_3xx74GP2KLwP
https://dl.doubtnut.com/l/_yOkElJM0u1Sf

Answer: A::D

° Watch Video Solution

58. Which statements is correct regarding the diagonal

relationship between the Al and Be?

A. BeO and Al;O3 are amphoteric in nature

B. Both carbide on hydrolysis produce same gas

C. Both can form complex

D. Both have nearly close m.p.

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_yOkElJM0u1Sf
https://dl.doubtnut.com/l/_5cIpykCW3Z3T

59. Which of the following metals on treatement with alkali

will liberate H, gas?

A. Be

B.Sn

C.Ga

D.In

Answer: A::B::C

° Watch Video Solution

60. Choose the correct statement(s):


https://dl.doubtnut.com/l/_2fsFu2qmQVLc
https://dl.doubtnut.com/l/_vzz8xWF4JUej

A. BeCOs is kept in the atmosphere of C'O, since, it is
least thermally stable

B. Be dissolves in alkali forming [Be(OH)4]2_

C. BeF; forms complex ion with NaF in which Be goes
with cation

D. BeF, forms complex ion with NaF in which Be goes

with anion

Answer: A::B::D

° View Text Solution

61. Select the incorrect statement(s):


https://dl.doubtnut.com/l/_vzz8xWF4JUej
https://dl.doubtnut.com/l/_pW5zZvhHmBds

A. Magnesium can be burnt in the atmosphere of

002 and SOQ

B. Magnesium reacts with alkyl halides to form

Grignard's reagent

C.Out of Mg and Ca, only Mg reacts with N, to form

magnesium nitride

D. Calcium is less reactive than magnesium

Answer: C::D

° View Text Solution

62. Which of the following statement(s) is/are incorrect?


https://dl.doubtnut.com/l/_pW5zZvhHmBds
https://dl.doubtnut.com/l/_EpEAejPTyvzM

A. Sodium bicarbonate is more soluble than sodium

carbonate

B. Sodium hydroxide is known as caustic soda

C. Sodium bicarbonate is used as antacid

D. Sodium nitrate is used in the manufacture of soaps

Answer: B::C

° View Text Solution

63. Select the incorrect statement(s):

A. KOH is a weaker than NaOH


https://dl.doubtnut.com/l/_EpEAejPTyvzM
https://dl.doubtnut.com/l/_mhFBf7h6G3KG

B. Milk of magnesia is an aqueous solution of
Mg(OH),

C.Mg*" ions are precipitated with the addition of
NH3;OH in the presence of NH,Cl

D. CaQ, is less stable than MgO,

Answer: A::C::D

° View Text Solution

64. Which of the following statements regarding the oxides

of alkali and alkaline earth metals is correct?

A.The reactivity of K;0 towards water is more than

that of Na,O


https://dl.doubtnut.com/l/_mhFBf7h6G3KG
https://dl.doubtnut.com/l/_wTknjUGwcoRs

B. The oxides of alkaline earth metals are more basic

than those of alkali metals

C.MgO is used as a refractory material for lining of

electric furnaces

D. The milk of lime and lime water are two different

solutions

Answer: A::C::D

o Watch Video Solution

65. The pair of compounds which can exist together in

aqueous solution is:

A.Na;CO3 and NaHCO;


https://dl.doubtnut.com/l/_wTknjUGwcoRs
https://dl.doubtnut.com/l/_1QGWaC70kEMg

B. NaHCO3 and NaOH

C. NaOH and NaH;PO,

D. NaOH + NaH POs

Answer: B::C

° View Text Solution

66. Which of the following are soluble in water?

A. Na,20'03
B. Ba0204

D. CCL(NOg)z


https://dl.doubtnut.com/l/_1QGWaC70kEMg
https://dl.doubtnut.com/l/_Hao1nl8KThcc

Answer: A::D

o Watch Video Solution

67. Which of the following salts exis (s) as decahydrated

crystals?

A. Washing soda

B. Glauber's salt

C. Epson salt

D. Grypsum salt

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_Hao1nl8KThcc
https://dl.doubtnut.com/l/_XuSNTpH4t8Be

68. Which of statements are true?

A.NaHCO3 and KHCQO3 have same crystal structure

B. On heating Li NO3 decomposes into LioOanCO,

C. Among alkali metals, Li metal impart red colour flame

D. L1550, does not form alum

Answer: B::D

° View Text Solution

69. Saturated hydrocarbon gas is evolved by carbide(s)

is/are

A. CCLC2


https://dl.doubtnut.com/l/_1XHytbIv5YT6
https://dl.doubtnut.com/l/_z5cmRyI13ouW

B. AlL,Cs

C. Mg203

D. BCZC

Answer: B::D

° Watch Video Solution

Match The Column

1. Entries of Column-l are to be matched with entrices of

Column-Il. Each entry of Column-l may have the matching


https://dl.doubtnut.com/l/_z5cmRyI13ouW
https://dl.doubtnut.com/l/_0m8lzf0cmGw4

with one or more than entries of Column-li

L W vl Savawm i UL - potmrsaer O

e e colamnl
BC (P) Propyne preparation
(B) Al,C, (Q) Abrasive
(C) Mg,Cy (R) Methane preparation
(D) WC (S) Interstitial carbides

o Watch Video Solution

2. Entries of Column-l are to be matched with entrices of

Column-Il. Each entry of Column-l may have the matching

with one or more than entries of Column-li

(A) Yellow flame colour _ E) Ca
(B) Most reactive with water Q) Mg
(C) Gives carbide with ‘C (R) Na
(D) Metl nitrate —>» metal oxide +NO,  (S) Li

+0‘

o View Text Solution



https://dl.doubtnut.com/l/_0m8lzf0cmGw4
https://dl.doubtnut.com/l/_9vo6wgWHW5iD

3. Entries of Column-l are to be matched with entrices of

Column-Il. Each entry of Column-l may have the matching

with one or more than entries of Column-li

(A) Product in Solvay process .. (® Nacl T
(B) Evolve CO, T on heating (Q) Na 0,

(©) aq. soln. is neutral towards litmas *;‘, (R) NaHCO,

(D) Oxone (Na;0,) -

© o (8) NaCO,

° View Text Solution

4. Entries of Column-l are to be matched with entrices of

Column-Il. Each entry of Column-l may have the matching

with one or more than entries of Column-li

| Colamad (CHGNSRRPITANE Bl e oetas)

(A) Metal sulphate —2+ metal oxide ®) Ba
+80,+0,;

(B) Metal cation + K ,CrO, — yellowppt.  (Q) Sr

(©) Metal + NHy ~ 2999, 1ie solution  (R) Na

(D) MCl, + conc. Ha80, ——+white ppt. (5) Mg

| & o ]


https://dl.doubtnut.com/l/_HpQHEQAlGauT
https://dl.doubtnut.com/l/_d071QNHXJiv3

[ W View Text Solution ]

5. Entries of Column-l are to be matched with entrices of
Column-Il. Each entry of Column-l may have the matching

with one or more than entries of Column-li

(A S— 5,0 . 5> 3 (P) Na 5,0,
(B) Ag"salt — soluble complex " (Q) NaOH
(C) Fe* — Fe(OH), (R) KOH
(D) FeCly — FeCl, » (8) Na,SO,

° View Text Solution

6. Entries of Column-l are to be matched with entrices of

Column-Il. Each entry of Column-l may have the matching


https://dl.doubtnut.com/l/_d071QNHXJiv3
https://dl.doubtnut.com/l/_cdr7ASTdGrbQ
https://dl.doubtnut.com/l/_kUj6KzWUEvWt

with one or more than e

ntries of Column-li

rae S e

(A) Most negative uandard electrode
potential an element in the periodic table

(B) Alkali metal carbonate which
decomposes on heating

(C) Na/lig. NH, is blue colour solution
which conducts electricity

(D) Metal carbide which gives methane on
hydrolysis

(E) Metal carbide which on hydrolysis gives
propyne

(F) Metal used in flash bulbs

(P) Solvated electrons
(Q) Mg ,C,y

(R) Al,C,y

(S) Magnesium

(T) Li,CO,

(U) Lithium

° View Text Solution

7. Entries of Column-l are to be matched with entrices of

Column-Il. Each entry of Column-l may have the matching

with one or more than entries of Column-li

 Columas

of b dirs oo mo: ¥ SEE X

(A) M«lgnetium hydmxidc
(B) Barium sulphate

(C) Magnesium sulphate
(D) Calcium cyanamide

(P] Mapq.u’gauve

(Q) As a fertilizer

(R) As a constituent of sorrel cement
(S) As a constituent of lithopone

° View Text Solution



https://dl.doubtnut.com/l/_kUj6KzWUEvWt
https://dl.doubtnut.com/l/_3bRpyEDD40UK
https://dl.doubtnut.com/l/_GCSWBmmFA5YK

8. Entries of Column-l are to be matched with entrices of
Column-Il. Each entry of Column-l may have the matching

with one or more than entries of Column-li

wonrl Suram Mires UL - pottrserr WY
rorth iy b [ Column-11 A
{n) B,C (P) Propyne preparation
(B) ALC, (Q) Abrasive
© M‘:Cg (R) Methane preparation
(D) WC (S) Interstitial carbides

° View Text Solution

9. Entries of Column-l are to be matched with entrices of

Column-ll. Each entry of Column-l may have the matching

with one or more than entries of Column-li

(A) BeF, < BaF; < SrF, < CaF, < MgF, . (P) Lattice energy

(B) LiBr < NaBr < KBr < RbBr < CsBr (Q) Solubility in water

(C) Be(OH); < Mg(OH), < Ca(OH), (R) Thermal stability
< Sr(OH) ; < Ba(OH),

(D) BeCO, < MgCO; < CaCO, (8) % ionic character

- S0 <BaCO«

° View Text Solution



https://dl.doubtnut.com/l/_GCSWBmmFA5YK
https://dl.doubtnut.com/l/_4vd9fSZ2Nd7o

Assertion Reason Type Questions

1. Statement-l : Li3SO, do not form double salt like alum.

Statement-ll : Li reacts with NHj gas to form LiNH,

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

& ]


https://dl.doubtnut.com/l/_4vd9fSZ2Nd7o
https://dl.doubtnut.com/l/_KR6qSB9wE9Wk

| ¥ Vvatch Video Solution |

2. Statement-l : BeCl; can not be easily hydrolysed.

Statement-ll : BeCl, is electron deficient compound.

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_KR6qSB9wE9Wk
https://dl.doubtnut.com/l/_lUqOocP7qEHq

3.Statement-1 : K and NH;r ions have lot of similarities
in their test
Statement-ll : Radius of K ' is almost equal to radius of
NH,S
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_lE6ZFQGiApN0

4. Statement-l : Alums are isomorphous crystalline double
salts, which are soluble in water.
Statement-ll : The aqg. Solutions of alums have acidic
character due to hydrolysis.
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

| ° \Wiak~hh \iAAA CAliikiAan



https://dl.doubtnut.com/l/_lE6ZFQGiApN0
https://dl.doubtnut.com/l/_6LxOKnM5g2wk
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5. Statement-l : Mg gets oxidised, when heated in CO,

atmosphere

Statement-ll : Mg has a strong affinity for oxygen

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_6LxOKnM5g2wk
https://dl.doubtnut.com/l/_2Ss4sbsWChTp

6. Statement-1: Mg>" + ZnSO, — MgSO4 + Zn*™"
Statement-ll : More active metal can displace less active
metal from its salt solution.
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_2Ss4sbsWChTp
https://dl.doubtnut.com/l/_GHG2j9F9sQYU

7. Assertion: Li resembles with Mg in properties
Reason: Li ™ has almost same polarising power as Mg**.
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_GHG2j9F9sQYU
https://dl.doubtnut.com/l/_ikYTmMEB2ixC
https://dl.doubtnut.com/l/_BjaI6r17BDU2

8. Assertion: Be(OH), dissolves in excess NaOH solution.
Reason: Be(OH), is an acidic compound.
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_BjaI6r17BDU2

9. Assertion (A): Sulphur is estimates as BaSO, and not as
Reason (R ): The ionic radius of Mg?™ is less than that of
Ba2+
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_EWiaUJwSbAMN

10. Assertion (A): Alkaline earth metals are harder than
alkali meatals.
Reason (R ): Atomic radii of alkaline earth metas are smaller
thant the corresponding alkali metals in the same period.
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

| ° \WAiak~hh \AAA CAliikian



https://dl.doubtnut.com/l/_EWiaUJwSbAMN
https://dl.doubtnut.com/l/_1jtmVYcEAvE5
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11. Assertion: Magnesium does not impact characteristic

colour to the bunsen-burner flame.

Reason: lonisation energy of Mg is very high.

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_1jtmVYcEAvE5
https://dl.doubtnut.com/l/_rRZ9lCYhYRI0

12. Assertion: Among hydroxides of alkali metals, LIOH is the

weakest base.

Reason: Among alkali metals, lithium has the highest

ionisation energy .

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B



https://dl.doubtnut.com/l/_rRZ9lCYhYRI0
https://dl.doubtnut.com/l/_DZZLOww9oR6v

| W Watch Video Solution ]

13. Ba SOy is insoluble in water due to its

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_DZZLOww9oR6v
https://dl.doubtnut.com/l/_QtElujuoAUKg
https://dl.doubtnut.com/l/_XtZldlxWb7Hw

14. Assertion: Csl is sparingly soluble in water
Reason: Hydration energy Cs™ and I~ ions are higher
than lattice energy.
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XtZldlxWb7Hw

15. Assertion : Potassium is not obtained by the electrolysis

of fused KCI.

Reason : Potassium vapourises at the melting point of KCI.

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_GbXZooAZt1zr
https://dl.doubtnut.com/l/_ddfkcU3q0rqR

16. Assertion: M.P of BeCl, is less than that of MgCl,, but

reverse is true for their thermal stability.

Reason: M.P. and thermal stability of both compounds

depend upon their lattice energy.

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_ddfkcU3q0rqR

17. Which is the strongest reducing agent among alkali

metals?

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wHkfRcpr5MND

18. Assertion: Li5 SO, does not form double salt like alum

Reason: Li reacts with NHj3 gas to form LiNH,

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_I92U98n1NFGE

19. Assertion: Be(C'i5 cannot be easily hydrolysed.

Reason: BeCl, is electron deficient compound.

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_isNYFQfy1INR

20. Assertion: K and NHL;r ions have many similarities
in their test
Reason: Radius of K ' is almost equal to radius NHL;r
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_5CCKrKNHgdqG
https://dl.doubtnut.com/l/_yotrAfDZMWaC

21. Assertion: Alums are crystalline double salts, which are
soluble in water.
Reason: The eq.solutions of alums have acidic character due
to hydrolysis
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_yotrAfDZMWaC

22. Assertion: Mg gets oxidised when heated in CO,

atmosphere.

Reason: Mg has a strongly affinity for oxygen.

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_nZKDt10QrdyU
https://dl.doubtnut.com/l/_91NpYFUrW1ip

23. Assertion: Mg¢?> " + ZnSO, — MgSO, + Zn**
Reason: More active metal can displace less active metal
from its salt solution.
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_91NpYFUrW1ip
https://dl.doubtnut.com/l/_VIiYo5e2hiFp

24, Assertion: Li resembles with Mg in properties
Reason: Li * has almost same polarising power as Mg* ™.
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_VIiYo5e2hiFp

25. Assertion: Be(OH), dissolves in excess NaOH solution.
Reason: Be(OH), is an acidic compound.
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_tZ4VY8yhvp1n

26. Assertion: S()i_ is estimated as BaSO, but not as
MgSO,
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_dr0xkVzTbVfv

27. Assertion: alkali earth metals have lower densities than

alkali metals.

Reason: atomic radii of alkaline earth metals are smaller

than that of corresponding alkali metals.

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_IVyCR3mDZWRY

28. Assertion: Magnesium does not impact characteristic

colour to the bunsen-burner flame.

Reason: lonisation energy of Mg is very high.

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_IVyCR3mDZWRY
https://dl.doubtnut.com/l/_XMFE866khoJ6

29. Assertion: Among hydroxides of alkali metals, LiOH is the

weakest base.

Reason: Among alkali metals, lithium has the highest

ionisation energy .

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_U1v2UZn6iI14

30. Assertion: BaSOy is insoluble in water.

Reason: Lattice energy of BaSO, is higher than its

hydration energy

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_U1v2UZn6iI14
https://dl.doubtnut.com/l/_KYA5CYigmeuT

31. Assertion: Csl is sparingly soluble in water
Reason: Hydration energy Cs™ and I~ ions are higher
than lattice energy.
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion
C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_K86hPGw76Vrd
https://dl.doubtnut.com/l/_LgGI9QoLf2KB

32. Assertion : Potassium is not obtained by the electrolysis

of fused KCI.

Reason : Potassium vapourises at the melting point of KCI.

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_LgGI9QoLf2KB
https://dl.doubtnut.com/l/_RYyJPxWswlwR

33. Assertion: M.P of BeCl, is less than that of MgCl,, but

reverse is true for their thermal stability.

Reason: M.P. and thermal stability of both compounds

depend upon their lattice energy.

A. If both assertion and reason are true and the reason

is the correct explanation of assertion

B. If both assertion and reason are true and the reason

is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_RYyJPxWswlwR

34. Assertion: Li is most strong reducing agent among alkali
metals
Reason: hydration energy of Li* is maximum among the
alkali metals.
A. If both assertion and reason are true and the reason
is the correct explanation of assertion
B. If both assertion and reason are true and the reason
is not the correct explanation of assertion

C. If assertion is false but reason is true

D. If assertion is true but the reason is false

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_aXgjqp1VlhPS

Subjective Problems

0°C P+Q
Na,0,

Water

28°C P+RT +S

1.
Calculate sum of bond order between same bonded atoms

in Q and R compounds.

° Watch Video Solution



https://dl.doubtnut.com/l/_aXgjqp1VlhPS
https://dl.doubtnut.com/l/_1fYTln4EF3uW

0°C P+Q
Na,0,

Water

26°C P+RT+S

2.
Calculate sum of bond order between same bonded atoms

in Q and R compounds.

° View Text Solution



https://dl.doubtnut.com/l/_spf23ZWir5Go

